R

eflenrg QamELliLs @Mui@ :  ufley

GTGU0T

2019
LoemeoTudl e

S@indssiu’_Gearer Gryw : 3 wanf] [Quorss wHL@UETser : 300

deamésEnéE udoalsguen Spssam iflaj@rsamar HUAIONTSL Ligssaid

10.

11.
12.

13.

Ww&Sw Sydlejenraser
@ps elenrs AsrELY Caray AeT_m@ausnE 15 HOlLRsEpé@ wenansrs edlamammiLgTisEnsd@ euphsUu@L.
@bs enrs Qam@iy 200 eflemésemers GaramBererg). eflenwaflés Qgm_rii@guper @eusllamgtam@inde eraem
eflenmasienid euflenswis @)L 1b GupmeTeTeareur eremuensLd Glent ulilé) g CleuhmISSTETHET 2 CTETETEUIT GTEITLIENGUILD
sfluriggis Gamdrerayd. gGs@d Gmpur® GmUuter, sigmer Uss B ksEREET slempsararetiuranflid
Qsfelgg), sflwurs o 6rar Ca@prm e AsrglGmar Quppé Qardrer Cauan®b. Csiay Ggm rhdw ey,
wepuill L e eflems Asr@liL wrhilé SriuL m L gl
erear dlamssEps@ b elleL weafldsay. eraer ellemssend Fuwrer bHUGuarser Qe _snal.
e msEpaLw uda) craramean Qs LssSHar g Cud apaauld SigHhsar mwbgdaer Qusdd Fhusar
er(p5 Gauaar(Hid. Gaupy erengwyb eflenng AgmE Ll ear(pss salL g,
dlenLseer GNSS &1L erar, ellenLSSTeT Qe 2 RIS (EH&E AN SansrantlureTyred Sruu@L.
o msEpeLw lams@sr@giy @dluiiear (Question Booklet Code) eflenLgsreflen @rawrmb usssdlad
SigHbser dewpgdaer QLidd Fab Joag smew Hip ewweLw ubsopaarns Cueartelarnme GHl5ss
1L Ceaan@n. Cupsaraupop dorgsreie prsd @hsas sriLs seudlemd Csraurenemmu
2iflelsamaufen GHuG Beraraurmy HLciigsens Gon@sraremiu@Bib.
aeu@eumm eflemaytd (A), B), (C) wipmid (D) ere peins, eflent_senaré Camam(Hereng). Bruser Sieneusafler G ¢ aflimer
eflenenwis Cairey Clalig) eSlentssmetley @Glems am_ L CaiammBib. genmisE Copul L sflurer eSlent_seT ea(m Caemellé @
Bmiusnas smlamd Shser las sflurang erem eranss HHEEDTECHT Dibhs el ew eflessmafle @Hlesé
sm L Geuamr(®Hb. eriLquimlblend qm Caarellss @Cr m el amubgrea Compbshas GaiamBbd. 2 misEhmLLIL
Qorgs wALEUGTsET Bruser elentssmafle @hlsgis sm_Hid sflwurar aflen,saflan eramaniisamaenu QUMMISSE.
en_parafier geuQaun, Casmall sramanfipEn ardfid @), @), © wimd (D) eran Bren au L s 2 aarer. G
Caarellag efenwaflss Briser aflQwen smab arew @Cr om ai s wl G b oz smow i
ewwmLw ubg e Cuamdame @Hsss snt Cauar®b. galaurm Caaalsgn om oleLews
ComOs®ss oL ssrafld @hlss Caan®n. om Caaellsg qaméd Cuopul L aleawelissrd oibs eflen

FUDTRIFTES SHSULIHD. 2 FIT@TIONS Hriser aramuens silwren eflepwirss smAarmad 2iens emeuHomm

5516 &ML Ceuam(®id.
(Gl ® o YOI
frasdar eflams Gsrellean apsl usssamsyd BésCar swag dPssCaur mirg. Csiey Corsdd @b
eflanmg Qar@ndenanCuir sidag 6denLssraarGur Carays aLgms 6.0 Qeaflulla or@s5é Aeaabmrg.
Ggirey apupsler frser o ms@hmw oL ssraars sarsraiuurerfin GQer®@ss L. CGouam@ib.
@Qeuellanrs QsrEldmens Cairey plyheall o HriseT 2 misEnrL 6l or(HE5F (edaemd.
@dluyser erapdls uriiugne femms QsrElulear saLfl usssHhE e edrer LSS e LCLTESEE
Qsréreremd. Geass saily, lams QsrElidean arps QL sHab erps g GHlUysmenyb QslwssaL gl Qbs
< flayenr sawmg iuirs SeruppriuL. Ceuast(HLb.
Syrfle algdld Aer@ssuulHerar GHILULSET ST (Pl UITATSTELD.
dararriugmiser alenwaflGamod 2 arer elamrésaflan Qurss aanaflsdamsau e ssraflar LssD 2-@
sign@aar 2w s L 580 erapd Hiriiueyn. @snse saBsars gHg HOl_kisdr auphsiu@w.
Cuopsar._ iMajersailer crenswreug Bileme Csrauraanud wyla@sGEhn BLlysmssEhs®E 2 s
CpM@b erar Hlapssiu@Ang.
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Plisse crepes are produced by using this chemical
(A) Sodium chloride (B) Sodium perporate
(C) Pottassium dichromate MCaustic soda

@s Caudlls Qummenarls weTLRSS Gaften &flev swrflssLuGarmer
A) GCemgqud @CerrenyL B) Cemgquwd QuICurGr

(C) Qur_Lrélwb en&CrmGul_ (D) arevgsCarLm

Which of the following statement is/are true or false?

(1) Electrofying is a process of finishing applied for pile woven fabrics
(2) Silk fabrics are napped

(8) Wool fabrics are napped

(4) Cireing process is applied for silk and rayon fabrics

(A) (1) and (2) are false, (3) and (4) and true

(B) (1) and (2) are true, (3) and (4) are false

(C) (1), (3) and (4) are false, (2) is true

\y) (1), (3) and (4) are true, (2) is false

Epsaam sapmseiier sflwreanenel/seupraneney wreneu?

(1) ees Crremun erenug pile woven gpepuier Qpws geflsE LwaTLBSSILGHLD
@i Qewepernwr@n _

(2) ul@ssmiisar goLssuu@damer (QBL0H)

3) sbual galsd Cpodi QeuuiiL@daman

(4) swr (Cire) weom uL® wHmib Cruresr gierllsEhsE L LWaTLBHEng

@ Q) wppid (2) - peup. (3) wppid (4) - of

B) (1) wpyw (2) — &, (3) wHpb (4) — suy

©€) (1), (3) womw (4) — seum, (2) — &

D) (1), (3) wpgid> (4) — #fl. (2) — sy

3 -~ CDHS/19
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3. Which of the following is true or false? _
| (1)  Colour fastness is the ability of the dyed fabric to remain unchanged..
(2)  Colour fastness is not affected by perspiration.
(3)  Colour fastness to crocking in fastness to rubbing.
(4)  Colour fastness is not seen for printed fabrics.
(A) (1)1s false, (2), (3) and (4) are true.
(B) (1), (2) are true, (3), (4) are false.
(C) (1), (4) are true, (3) and (2) are false.
.m (1) and (3) are true, (2), (4) — false.

sflur/seupr GOUEGH S :

(1) euamantld Es@eUSHD cratug) @ gianiluden Hinsms LIHDS(HESED @D

(2) Ceureneuulenmed gemfludler Flimb wrmeudlvenay

(3) é&lyradlm Cargamans@ Hnb sé&smeusSl(HH50, CaHlLsNIEE Curaudlaanc cTarn <HT&sLD
(4) <=8l L gaflserss Hlp Cersamar Qaiutiu@eudavme

@) (D) -sa (2), (B) wpmd (4) =&l (B) (1), (2) — &, (3), (4) — seug
©€) @D, %) -af. @) wpoyd (2) —gaupy (D) (1) wpmd (3) — &, (2), (4) — saum

4. Which type of printing 1s a continuous process and production is faster?
(A) Block printing (B) Stencil printing |
(C) Screen printing m Roller printing
THS eUMS a&ﬁ@gw eranug) GgrisSlwrer QewdeampunEb whnw 2 Huss Ceuswrs
BBEED
A) sy ESHs® (B) ev@Lenfled i&SHs
(C) ey 24580Hse0 D) Crreor siEfHso

5. This type of finish lasts throughout the life of the fabric.

(A) Semidurable (B) Durable
(C) Temporary (m Permanent
ps s Quislc s gianfl curbpreT (ppaugid fig @

@A) o7 byss - B Bess

(C) snaredls D) HAysdr
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Which of the pair given below is/ are wrongly paired?

Stain Remover

(1) Rust stain —  Sodium Perborate

(2) Grease stain —  Turpentine

3) Ink ' —  Talcum powder

(4) 01l —  Sodium hydrosulphite

(A) (1) and (2) (B) (2) and (3)
M (3) and (4) (D) (4)and (1)

Slemau(mLd @anenrsener s(HESle Glamears :

&M B&@GD FETLIGHTLD

(1) smson —  Gemguwib QurGurGrl

2) Sifev sevm — LrQuemenL_esm

(3) ewsemn ' —  Lmesb Queri

(4) eramQamismn — Cemguwib Qang Crrademul_

@eunle creneu/erg) HeumTs QleamssLILL (HeaTarg)

@) (1) wpomb (2) B) (@) vogpw (3)

€) (3) wpmywb (4) D) (4) wpmww (1)

Which of the following statements are true or false? Select your answer using the
codes given below : '

(1) Manmade fibres do not readily absorb stain.
(2) Bleaching agents remove stains.
(3)  Sunlight bleaches fabric.
(4) Hydrogen peroxide is universally accepted bleaching agent.
All are true
(B) (1) and (3) are false, (2) and (4) are true
(C) (1), (2) and (4) are true, (3) is false
(D) (1) and (4) are true, (2) and (3) are false.
Gereumd eursdlurisailer sfluraraupapub seupraaipenun 6 Csrhéssuul(Herer
Qeredsald Qmbs Corey Clals : '
(1) walgamed 2 (haursslul L GePaeT Smnei 2 L &g Wirs 2 DHlEereng)
(2) weflEfm QuirpLseT SamDmen DISHMILD
3)  Eflw gafl giaflaw Qeusdrarred eneussing)
(4) eanl_rger QuiTsms. 2 wserreiled grHm&EsTaTaTUED ClouEBLILITET QLG

A) smanggd &l (B) @) womb (3.) — geum), (2) wHmw (4) — &
©) (1), (2 wopw (@) —&f, 3)-gam (D) Q) wpmbd (4) — &, (2) wHpLw (3) — seum
5 ' CDHS/19
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8. Match the following fibres with examples :
Fibres Examples
(a) Plant fibres 1 Silk
(b) Animal fibres 2.  Asbestos
(¢) Mineral fibres 3.~ Nylon
(d) Synthetic fibres 4 Jute

@ b (© (d)

v ¢ 1 2 3
(B) 4 2 1 3
© 1 2 3 4
(D) 1 4 3 2

&C Qar@ sl (Herer @Qenwpaamer iger eT(HSHSsTLCLr(p) Gsrmyiu®&s8s.
@enipsar T(HSHESTL(H&eT

(a) sreuy @evwser 1. uwl@®
(b) &SewmiE Qenwpser 2. s
(c) saflo Qewpser 3.  emmpeomer
(d) Geswpens @emc.'pass'rr 4. sewied

@ ® © (d)

A) 4 1 2 3
B) 4 2 1 3
©) 1 2 3 4
D) 1 4 3 2

9. Name the method of printed a design to the paper first and then transferred it to the

fabric. !

(A) Screen printing (B) Digital printing

(C) Block printing w Transfer printing

THS umsTET SESHID Wpanuile) augauwreang) srélssHled HFHLUUl® e, 218 gawflude
wrHpliu@®&ng) ? _

(A) deor apad SEHHHD B) QL FEHsD

C) sleulen pperd 9EHHSD (D) uflwrHmid e epead HEFHHGO
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- 10.

1.

12.

Which of the following is incorrectly paired?

(A) Fibre —  Stock dyeing
(B) Yarn — Package dyeing
m Fabric —  Skein dyeing

(D) Blends S Union dyeing

EDEHEETL_UDMIET 678 SunTal) QU mSSLILIL () eTerg)?

A) @aw —  evLs smwSl(Hgen
B) me —  CusCsspy stwill(hige
(C) ganf  — evden sTLODSD
D) selygmilsdar — I wyeflwerr smwbl(Hge

Which method is followed to dye synthetic filaments?

M Dope dyeing (B) Top dyeing
(€C) Skein dyeing ' (D) Package dyeing

SpeumeuaTeunmieT eThs panmuiled Qawnens @enp smwGLHDUILBHDE?
A)  CurderwldBse (B) Guweé smubl(Bhigev
(C) evdar srwHize (D) Cu&Csgy erwbl(Hge

Skein dyeing is carried out in which of the following stage?
(A) Fibre stage _ Yarn stage
(C) Fabric stage : (D) Garment stage

eu&ern smuLll(Hge eThs Hlaveouded Qauwiu@BEng?
A) Qe Hlene (B) mre Hlenew
(©C) gl Hlewew _ D) <L flevew

CDHS/19
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13.  Which of the following statements are true or false? Select your answer using the
codes given below.

(1)  Acrylic fibres dissolve in 70% ammonium thiocynate.

(2) Polypropylene dissolves in cyclo hexane.

(3) Polyester is soluable in hot metacresol.

(4) Polyethylene and Polyepropylene fibres dissolve in decalin.
W (1), (3) and (4) are true, (2) is false

(B) (1), (2), (3) are true, (4) 1s false.

(C) (1) and (2) are true, (3) and (4) are false.

(D) (1) and (4) are true, (2) and (3) are false.

Yemeumo eursflwmiseia sflurareupenun geupraeunapuw SCp GsrHEslul (Herer
Qgm@Huledmpbs Cairey Claws : !

(1) <sflalls Qe 70% 2Curaflww sCwrenswuCean g smydng)

(2)  urelluy@yrideien enesGean@ansCevarfler sanydlma

(8) @Lmrar QL Lérereleé urelwevL T Sepruyb

(4) Qrsaraeie urell ergadenm wHmib LTlYGETTUGeiar Gempser Heyuyb

@) @), Q) 4)-ef (2)-saun B) (1), (2), (3) — &, (4) — seumy

© (), @-s.(3), (@) - o D ), @ - sfl.(©2), @ - sy

14.  This fibre will not dissolve or swell in acetone.

Nylon (B) Acetate
(C) Triacetate (D) Wool
@5 Qe HE_CLrafle sarurg 0ag LU@HLETETS
(A) eperenr - (B) <=o8G_L
©) LearsfiGLL (D) swuef

15. This fibre has a collapsed, spirally twisted tube with a rough surface when viewed
through microscope.

Cotton (B) Rayon
(C)" Silk (D) Glass
Qs @y marCarradluller uriggn Curg srwrerer CuouriyL ar #fbs WPndEsLuL L
Gwr Gurenn Senwlienus Csramerearg)
A)  umss (B) Crwmewn
C) uwl@ (D) sewranmy.
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16.

17.

Which of the following is wrongly paired?
Fibres Inflame
(1) Weighted silk — Burns with a glow
(2) Nylon —  Flames rapidly and melts
(3) Acrilan —  Burns slowly with melting
(4) Linen —  Burns slower with yellow flame
M (2) and (3) are wrongly paired (B) (1) and (2) are wrongly paired
(C) (2).and (4) are wrongly paired (D) (3) and (4) are wrongly paired
EpEMUEaL L @Qamensaic creneu Seupraranel
@enip erifluyb sarenio
1) eeorCuppuulcul@® —  Ceelédssg e erflgd
(2) epemer —  Ceuslors Gp@mLUDD 2 (HELWD
(3) sfleomren —  Owgeurs erilbg 2 (HEWD
(4)  dGQlerer —  Qugleurs erflbg wEpser Blp eafl H@Hw
Q) (2) womwb (3) seuprer GenearriiL (B) (1) womib (2) seuprer @enanriiyy
(C) (2) womib (4) seupren @enewTiiL| D) (3) womyb (4) seuprear @eneawTiiLy
Match List I with List IT and select the correct answer using the code given below :
List I List II
(Fiber) (On approaching flame)
(a) Cotton 1.  Smolders
(b) Wool 2 Ignites readily
(¢) Acetate 3. Fuses and melts
(d) Zefran 4. = Fuses away
(a) (b) (c) (d)
A 1 4 2 3
2 1 4 3
(C) 2 3 1 4
(D) Sty 2 3 4
auflene I-2 L an cuflens II-gm0 Qurmsdl, sflwurer @hlui® 2_crar udlawas CaTHESHES.
. aufflens 1 - aufleng 11
(@en1p) (QB@mLSen Simslen)
(@ umss 1. ymsse
(b) sbuafl 2. oL angurs upnameusdng
() AGLL 3. 2mdal(Hsd
(d) Qe opmer 4. o2 m@dng
(@  (b) (c) (d)
A 1 4 2 3
(B) 2 1 4 3
©) 2 3 1 4
@ 1 2 3 4
9 CDHS/19
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18.  Which of the following facts are true?
(1)  Silk burns with a smell of burning paper.
(2) Rayon appears with interconnecting nodes under the microscope.
(3)  Acetone dissolves, acetate rayon.
(4) Under the microscope, cotton appears like a twisted ribbon.
(A) (1) and (3) are true, (2) and (4) are false.
"(B) (1) and (2) are true, (3) and (4) are false.

: m (1) and (2) are false, (3) and (4) are true.
(D) (1), (2) and (3) are true, (4) is false.

Epeumb sapmisefier ereneu sflwirareneu?
(1) vl erfluybd Qurpg sTélg aursemen eu(mD

(2) mewCanrréEs smeiluier Crrégn Gumups Crwrer @Qementiils Gaarr@as@Laﬂ
srerruu(Hin

(B) 8CLL Crwmerr, 8CLrafled senyuybd
(4) meanCanré@s smeiliae Crrégn Cumwps umsd, pnsdwu fAluamens Gume

sreRruU(HD
@A) (), 3) s (2), (4) seuy (B) (1), (2) &, (3), (4) seum
©) (), ©2) saum. (3), (4) & (D) (1), (), (3) &, (4) geum
19. Assertion (A) : Iron rust stains should be removed before the fabric is made wet,

as dampness spreads the stain.
Reason (R) : Javelle water should be avoided for the removal of iron rust stain.
W Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) (A) is true, (R) is false
(C) Both (A) and (R) are false
(D) (A)is false, (R) is true

sapm (A) : gaflow  mrorsgeusnHEuwear gimassmpaw  BsH el Ceuam(®ib.
: gQerenmmed, FFyb, senmenw UL §F CQewig eSHW.

smpend (R) : @mwlame ghul L simésmnowu Béausne graud Beor uwaLBéss
ol
A) (A womb (R) @rasr(®ino M. Guogib (R), (A)-efliE eflwurer elersswmns@nd
B) (4) s, R) saup |
©) (A wppd (R) @ramGb> saum
D) (A say, (R) &
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20.

Match the finishes with their impact on fabrics :

(a)
(b)
(©)
(d)

A)

(B)
W]
- (D)

@mﬂ&cﬁ)m flenpey Qauyb Wepnsmenu|b SiunHler STESSMSLLD CUT(HSSS.

(a)
(b)
(©
(d)

A
(B)
©)

Fipish

Mdireing
Weighting
Sanforising
Mercerising

(€Y b)) (©
2 4 1
3 4 2
< 3 2%
2 +3 4

Hlenm Gl wenm
Gurwflm

eremLen iSlsfgsen

FrenGuUTenym
Quofsenréim
O
2 4 1
3 4 2
4 3 2
2 3 4

D)

Impact
1.  Sheen and affinity for dyes
2 Length contraction
3.  Additional body

4. Lustre

STESHLD
1. wetueTlL) LHMID FTWLD 2 MEHHD SHemenLo
2. pergws @@nssm

3.  iflsworer LTS

4.  ueTueTLLy

11
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21.

22,

23.

is a condition resulting in the softening and dissolution of the cornea.
(A) Conjunctival xerosis (B) Corneal Xerosis

(C) Night blindness ﬂ Kerotomalacia

Hlenew erauig) sriaflurelar Cwearewwirssd wHmID samali dlweundler

clllenemeum@Lb.

(A). senggenig eudd GCrmrélav (B) armraflued QnCrrélen
© @roy GOLOssEm@L (D) QsrGLmoeondlur

1 g of salt contains ————————— mg of sodium.
m 400 mg (B) 600 mg

(C) 800 mg (D) 1000 mg

1 Slpmd 2 L6 2 direr Camg Wb ieTey
(A) 400 9.4 (B) 600 .5.4.

(C) 800 9.4 (D) 1000 A.4).

The percentage contribution from carbohydrates for total calories in diet is

(A) 10-20% (B) 20-30%
(C)  30-50% q 50 — 60%
2 ewredley Glorss sGarfaEnss, srmGuraman Gyl (Hsaien ss6is Lkisaflliy ereren?
A 10-20% (B) 20-30%
€) 30—50% (D) 50— 60%

CDHS/19 12 n



24.

25.

Identify the immuno nutrient/s used to modulate immune function.
(1) Arginine and Purine nucleotides.
(2) Omega 3 fatty acids.
(3) Glutamine.
(4)  Glucose and fructose. :
@Aa_ @ (B) (2) and (3)
(1), (2, 3) - D) (1), (2), (3) and (4)
Crm erdlTiy s&Henws pEIGUBSSID, Crml ardlily 588 2 ame| s55165mar STl D&,
(1) <idenaner whmd Yy fler flusdlelCuran_av
(2) @Cuwar 3 Qarapliy Sibleow
(3) EEHLTenwET
4) EEpsGamen wHMD YWrsGL Tev
A @ (B) (2) whmid (3)
€ @), 3,3 D) (1), 2), (3) wpmbd (4)

Match the Hormone with its action in glucose metabolism :
Hormone Action

T Glycogenolysis

4 Glycogenolysis

T Gluconeogenesis

T Hexose absorption

(a) Insulin

(b) Epinephrine
(¢) Thyroxine
(d) Glucagon

e G0 b

@ b © (d)

2 1 4 3
B) 3 1 4 2
(@ 2 1 3 4
D) 1 2 3 4
aprrGrer HMID &Er&ECaTen fange] rHDBIGMETWD ClUMHEE!S.
anmirGiomen uemnfl
(a) @enseden 1. T feoasCsar Cleggenmadlgen
(b) Q@B Lfer 2.  HeoasCar Glarmeilaen
(c) ewsyraslen 3. T Gepstsr HGurGgaialev
(d) EEesCarsren 4. T QansGsmev 2 Mésgem

@ ) o) (d)

A 2 1 4 3
®B) 3 1 4 2
© 2 1 3 4
D) 1 2 3 4

13 CDHS/19
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26. © Which one among the following method 1s not used to assess the nutritional status of

an individual?
w Vital statistics (B) Anthropometric measurements

(C) Clinical examination (D) Bio-chemical estimation

e puflar sal L s5g Blaowmwu wILGRGusnE Gaeumbd ansata erg) uu_:c;'muL_rrg

wenm?
(A wadlwu yerefl efleurid (B) wrall_elwe sereiBHsar
(©) wmsgeu uflCarsenar D) 2 W¥rCeudlufwed wHUSH

27.  Which one among the following method is used to assess the availability of food is

needed at macro level?
(1) Inventory method
(2) Food balance sheet method

(3) Dietary score.

(A) (1) only correct A (2) or_lly correct

(C) Both (1) and (2) are correct (D) (3) alone are correct

Wlslibluflw eredley Gg,&msu LU 2 areneu serLHlw LweruHSSLUGHLD penn
(1) vlguersg e

(2) o.awrey Garamamno e

(3) eewrey LIUSE

A Q) wlEosflurerg) '(B) (2) v @ sflwreng

(©) (1)-b wHmbd (2)-b sflwraee D) (3) vl Ew sflureareney

CDHS/19 14 n



28.

29.

30.

If head circumference is more than chest circumference, it indicates

(A) anorexia malnutrition

(C) starvation (D) hunger

Seauller &HMETa LOMTL| HDMETESH®E, NS S0rs @) (HHSTeD, o @M &S ng).
A)  uvdwupn Hlevew (B) carl L &8585 @enur®

€) ulgef D) u#

Insufficient carbohydrates in the diet result in increased acidity in the body, a

condition known as

(A)  Acidosis q Ketosis
(C) Proteosis (D) Lyposis

2 amelldd Curgoren sriCureaanCrl@ser Gomod oL ald flassamn iflsfsen
Hlene @eueurm SienP&sEULIHSIMTDS)

(A) 8CLradlev (B) & CLraflev

©) uCrm_gCuraflen D) eeuGuradley

A non-calorie sweeteners made by combining two amino acids — aspartic acids and

phenylalanine. ‘
(A) Ahitame (B) Saccharin
(C) Sucrolose q Aspartame

e’ igs opplh Soaoormadear aar @ren® WGamr flonsmar Ceiss)
Gewwiu@®w sCarflulloar Gefliy
(A) <fGLwb (B) s&r&sflen

(C) &&CyrGamen D) sepuriGLibd
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31.

32.

A 3

A proteolytic enzyme present in pineapple that digests protein.

(A) Rennin W Bromelin
(C) Papain (D) Megazyme

siananré] LSHD QHEGEL Lrssms grarfia@b LGrmiigCureiiy.é Qmré)
(A) Qreneflen (B) uGpmoeden
(C) urluGuen (D) Gwsrensid

Match the amino acids with their precursors :

(a) Cysteine 1. Choline

(b) = Tyrosine 2 Glutamate

(¢) Proline 3.  Methionine
4

(d) Glycine Phenylalanine

@ ® © @

o

(

4
2
1
D) 4 1

W B R =
B W = D

Spssar SfGaT dflwnismar vigear (parGanmg.ujLer Asrryuu® gis.

- (@) Sevger 1. Gasrellen
(b) eL_Cprnélen 2.  &@p Gl
() LGymellen 3. (QusmsCureaflen
(d) severadeir 4. Jemaersieomafle

() b  © (d)

A 3 1 = 2
B) 3 4 2 1
© 2 4 1 3
(D) 4 3 1 2

CDHS/19 16



33. The conversion of glucose into fat is
M Lipogenesis (B) Glycogenesis
(C)” Gluconeogenesis _ (D) Lipolysis

GEnEGaraman GampLILNS WIHNES)
(A)  uCurQgefadien (B) dlevaraCarbgeflélav
(C) EasCarhCurtnaiayen (D) euCureneagev

34. Arm Anthropometry includes
Bone fat and muscles
(B) Bone density and bone weight
(C) Muscle strength and muscle length
(D) Bone and fat mass

@& LOTEIL 6L CTHENIET DL RIGSHDEI?
(A)  er@yby Q&mpUY WLOMLD FMF
(B) ereuioyy Sl opmib erepibLy eremL
(C) sewe Lab LHMYID Fews HaTd

(D)  erauibLy wpmib Gareplin Hlenm

35. One of the prominent theories of ageing is the theory of
w the free radicals (B) the anti oxidants
(C)" the biological process (D) the nutrient assimination

wpgiemwuler wpasdlw Cam_ur@seafie g Carur(®
(A) SACressae6v (B) el 680Carmmd
(C) 2.uWfAwe wrhpriseT (D) oa L &858 Gmmdamantiiyy

36. Barium meal test is used to diagnose
Peptic ulcer (B) Gastritis
(C) Dumping syndrome (D) Lactose intolerance

Cuflwib 2_awre) Camgenen erens sa(h 965 2 Gedlms)?
(A) L@ yer (B) aulpmuyer whmib 65&&D
©) aln i gse (D) ersCLmen #8lLLs seanenoudeerento

n ' 17 CDHS/19
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37.  ldentify the oral dose of Vitamin A for a preschool child (1 — 6 yrs.)

(A) 10,000 1U , (B) 1,00,000 IU

(©) 20,000 IU va!? 2,00,000 1U

1 - 6 augeLyu GYimssE sIuuPL eal Ll ‘A-eflar ariauy Grd ey
SerL_mlweb

(A) 10,000IU : (B) 1,00,000IU

(C) 20,0001IU0 (D) 2,00,000 IU

38.  Which one of the following is correctly arranged in their increasing order of NPU?
(A) red gram < maize < milk < fish
(B) maize < milk < red gram < fish
maize < red gram < fish < milk

(D) red gram < maize < fish < milk

&1 2 eraraundled ieupilen NPU wiguiuen e gpeuflensulico erg) sfwumreng?
(A)  geugw umliy < Gerend < Lre < S
(B)  Gamerid < uméd < geurd LUy < e
(C) Gemerb < geurd LY < e < LiTed

D) seurw Ly < Cemerd < Ber < LmeD

39.  Which of the following is incorrectly paired?

(A) Thiamin —  Calories
ﬂ Iron — Vitamin A
(C)¥ Vitamin Bg —  Protein
(D) Vitamin E — Fat

Ep&s@mL_cUDMIET 6TE SeunTal AU SSLILL (HeTerg)?

(A)  swiSen — &G

B) @mwby sss —  eeaul_L e A
©) ealdllarBs — yrsésss

(D) e rdblerE — Qarpliys sss

CDHS/19 | 18 n



40.

41.

Polysaccharides are partially hydrolysed to dextrin and maltose by an enzyme, in
the mouth.

a — amylase
(B) Pancreatic amylase
(C) Maltose

(D) Sucrose

uredlgrgseny(H ser Qprdwred, euruie, ALgevlfer wHmD wLrOCLTedsEE

grerey HrrouEly Qewwdu@Searner.

A) a- sewCasv

B) smanmu enwGeoen

(C) wreoGLev

(D) &5Cymen

One of the following education is stretched out into the villages beyond the limit of

schools and colleges is
(A) Non-formal education
(B) Formal education
Extension education
(D) Vocational education
Epsaramib @@ sdafl wen uetall wHMHD sOIEE Sure Srrorsaio «Afbs
ureSlujerers)
(A) e sryrs sevedl
B) wpepwrer sael
(©) Meursss sawed

D) Qarfinsrd seed

19 CDHS/19
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42.

43.

44.

45.

The thermal process that prevents the growth of micro-organisms their spores is
(A) Disinfection (B) Pasteurisation
m Sterlisation (D) Commercialisation

micamudlflaser wHmb eunbler alldgss6r euetTéfleani (H&EW Gleuliu Qewapann
A) mememuifisamer <isse0

B) GLEH usLUDSSIED W

(C)  @dls Qeuliusdlarme memrayudlfisener i ssa

D) eumflswbwuLrEEsd Wwe

The normal specific gravity of milk is
1.026 (B) 2.026
(C) 3.026 . (D) 4.026

LireSlén coALAIAE Syl crlesaay?
@A) 1.026 (B) 2.026
(C) 3.026 (D) 4.026

The amount of vitamin A per gram of shark liver oil is

(A) 0-10,000LU. w 10,000 — 24,000 I.U.
(C) 24,000 — 40,000 1L.U. (D) 40,000 — 54,000 I.U.
a(m Sy &pr swadTelgiaTer eramblanTuiler 2 aTar 2 U TFFH) ‘6 -ullenm iemey
(A) 0-10,0001.U. (B) 10,000 — 24,000 I.U.

(C) 24,000 - 40,000 I.U. (D) 40,000 - 54,000 I.U.

The effective limit in pressure cooking is

@A) 100°C WA\ 12000

(C) 160°C (D) 200°C
015 (&S perpuiled senss LweaTu(Hsgib Geuliudlen ieTe,
(A)  100°C | | (B) 120°C
(C) 160°C - (D) 200°C

CDHS/19 20



46.

47.

48.

49.

The chemical compound in non-nutritive sweeteners is

Iodate

Monosodium glutamate

(A)
(€)

B)

v

Benzoic acid

Saccharin

§&gIvevr @aflurenasafiey 2 _erer @ramuiear Seeneu

(A)
(©)

(B)
(D)

CurGL L
CurCGenr Camigwib @@nLL Gl

The PUFA content in seasame oil per 100 g is
&) 10g
(C) 30g

QuenCGarudls =levd

gr&siflen

100 lgrb pavblavanGenruda o drer PUFA 2 drerL &8 oiemay

(A)
(©

B)
D)

10 dlgmd
30 dlyrib

20 &yro
40 Syrid

When fats smoke due to decomposition and develop an unpleasant acid flavour

compound called as
(A) Flavonol

m Acrolein

Careply whmib erantleami Hmsey sTramTONS,

B)
D)

Geneu erHURSSID Clummer
(A)  uGereuarmed | (B)
C) <=5Crmedem (D)

Isoprenol

Pyrosine

yamagedlenr Curg el(HUSSETS DblewE

enGevriflemmed

enuGrradle

- The permitted levels of SO, in foods as per food safety and standards acts in fruit

juice 1is

(A) 100 mg/kg (B) 1000 mg/kg

(C) 200 mg/kg 2000 mg/kg

pame urgsTiy  sradlen Ly  upssTny 2 ameysafldhs  sOUT-enL-&mav ()
@SS (HeTer jeTe

(A) 100 19.41/8).4l (B) 1000 1.8/ 4).6

(C) 200 19.81/8.4 (D) 2000 .41/8).8l

21
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50. The adulterant testing kit has been developed by

(A) CFTRI -

COEET -
(C) NIN -
(D) ICAR -

Mysore
Chennai
Hyderabad
New Delhi

eThg Hlmeuand sliuL Geng ser(Hiklg &HEwh aa@éﬁluﬁ]é;mm seanr(h191g 558, ?

(A) CFTRI -
(B) CCERT -
(C) NIN -
(D) ICAR -

NG, M
Qaemenest

MANSTTLITS
L& Gl cbedl

51. Emulsifying ability of egg is due to the presence of

lecithin

(C) white

(B) yolk
(D) phospho proteinl

(PLGOL LITEOLDLOME @@uugg’)@ STTERTLONS @) (HLILIGI 6TE)?

@A)  Qeedsden

(B) wlenLulen wepeer &m

(©) plemulen GeusTener &(m (D) umevCur yrgb

52. The organ meats of animals are known as

(A) kidney

thymus gland

(B) lLiver
(D) brain

efleomiGasatiey 2 arem 2 MU WMWOIFLD GTETLg) WiTg)?

(A) - Ambrsnd

(C) eswev

CDHS/19

(B) seeSye

| (D)  epenar
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53.

o4.

55.

56.

The cementing substances in vegetables are
(A) Protein Q Pectin
(C) Protopectin (D) Peptic acid

smusHude) @enentliL| SemenLow|L e ©)(H&@ D QummL&eT 6T ?
(A)  yrsd (B) Gudgen
(C) yCpriCLnr Quéigen D) Quings ybed

Gelatin, when placed in cold water swells due to
(A) hydration (B) dehydration

(C) hydrolysis ﬂ gelatinization
Qe qer @aflinhg Ble Cardi@o Curg 2 19 al(heugHaTs SryerTib?
(4) HCrombd (B) eamp &

(C) ean’ Grreneedlen (D) QgerymaCagsar

From which food group, should you eat the highest number of servings, a day?
Group one (B) Group two
(C) Group three (D) Group four

eThs 2 ara| QerEUL, Brer Cammb Siflserea] 2 arariu(ib 2 are C(sTEUY @G0D?
(A) Qsrauy-I : (B) Qsreuy-II
(C) GQsmEuy-III (D) GQsmEuy-IV

Cryogenic freezants that are food grade is

(A)  Glycol ﬂ Boiling nitrogen
(C) Boiling NaCl : (D) Glycerol
2 @TaS5TONS @MmEED HonCurlgeais o eneiliiume
(A)  dlewenssTed (B) Qardlssw eplyge
(C) Qards@b 2 1y (D) dleflsgmred
23 CDHS/19
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57. The moment which begins supplementary food is started and continues till the child
is taken of the breast feeding is

m Weaning (B) Supplementary feeding

(C) Bottle feeding . (D) Complementary feeding

&M L GaTH&EE WL srasdld Gaear 2 arameib Gaihg sTHEGW sragdler Cluwir
(A) ure LY&S (B) siement 2_awra

(C)  umlge 2 ey (D) Hlriy 2 awrey

58. During malting, starch is converted to maltose due to increased production of

enzyme
(A) Maltase . (B) Fructose
% Amylase (D) Lactase
wregn uUguild evLrissrars wLroGLreurs wLIMUS 6Thg eratesllear odsfllumed
penL_Gumélng)?
(A) wreCLev B) WGrsCGLev
C) emwlas - _ (D) Ca&CLen.
59. Adolescent growth spurt starts at about ' in girls.
10 — 12 years of age _ B) 10-14 yearé of age
(C) 10— 15 years of age (D) 10 — 16 years of age

cuarflemb Lheu Sle i euerTédl Auanaaller arhs sras LG Csr_rigdng
A) 10 wpsd 12 euwig) eueny (B) 10 s 14 euwg) cueny
(C) 10 s 15 euwigy) cueny (D) 10 s 16 cuwig euenry

60. Cooking in the minimum amount of liquid at a temperature of 80 — 85°C is

(A) Boiling (B) Simmering
Poaching ‘ | (D) Braising
- 80 — 85°C QeutinBlenawudenr @GawmHS cgnarr@ SEHIT G GO Giasrreﬁrr@ FMEHUILIMHID 266y (PEHD
aTH?
(A) Osrélss eeaussd : (B) san_ emeussd
(C) Curédm - (D) wQrLSK
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61.

62.

63.

Pick out the primary colours.
Red, Yellow, Blue (B)
(C)¥Y Red, Blue, Green (D)

SigUiLienL HlmmiseT wreneu?
(A) Seuly, wEpser, Hebd (B)
(C) Aeuiy, Bobd, Léens (D)

Identify warm colours from the following :

1. Red

Red, Green, Yellow
Yellow, Blue, Green

Sleuliyy, LFME, LDEHEET
LoERsaT, B, Lusms

2,4
2,3

2. Orange

3. Purple

4. Green :

@ay-- 1,3 (B)
15:2 (D)

EpssaL Hlpnsaid 2 ayanr Hlane finmismer Caib0s [ &s.

1. Seuly

2. reps

3. oagr

4. uUsens

@ 1.3 (B)

@ 1,2 (D)

Which are the related colour harmonies?

35 Monochromatic harmony

2. Split complementary

3. Analogous colour

4. Triad -

Ay 1-2.°3 : (B)

q 1.3 D)
slibsuperer BipLCUTmEsEIGmar GHUEGHS.
1. seafl ApuCurmssod :
2. QerayulL adi HpuCurmsso

3.  Sms@w ApuGurmesD

4. epaurenr BipUGLIHSSHLD

A 1,2,3 (B)
© 1,3 D)

25
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64. The loosely hung fabrics that are heavy that can be drawn or stand ideally at the

sides of the window are called

(A) Glass curtain ) M‘Drapery
(C) Swag (D) Cascade

@ STATISHMS APL QD DG @HUDPD sarteurs GgrmsellLul L seanors genfluden

Gluwsm
(A) sawewrigs Sevy (B) Qarmgd ey
(C) sy Sany D) NWsQarLir Hevy

65. Rearrange the steps in family budget.
Estimate the total expected income.

List commodities and services.

1

2

3. Estimate the cost of desired items.

4 B'ring expected income and expenditure in balance.
)

Check plan to see if it is realistic.
A 31,254 _ 2,1,84,5
(C) 82 1,54 D 1,3,2,4,5

GOLU aure) Ceweays FlL b o (Heurs@seilen Ligsamer LIHH 6T(SIs.

1.  ©ips wrssdnsrer cumwragams o (sl Qwrss Qgrasamw se (g &5
2. s wrgsdbsrar Caameuwiren Q.I_HT@[-_&GDGIT auflensiu( sgi560

3. auflanstin@sHw QummLseflen eflenaenw ser(h 9. &se

4. erEiurid@d eumwrardasib GFwaeu|b FoUL{HSSS560

5. Sl wreng peL_penUuBEs 2 shssT eranm Cardseed

A 3,1,25,4 B) 2,1,3,4,5

C) 3,21,5,4 M) 1,3,2,4,5

CDHS/19 - 26 n



Primary expenditure items in a budget are

1. Food
2 Housing
3. Health

4. Education

- 5. Clothing

(A) 1,3;,5 3B) 1,24

07 1,2,5 D) 2,3,5

aupey Gaways S sdlen Uysren eflewmiger
-1, o .awey

2. @mulL ausd

3. eneusdlu Cewey

4,  geed
5 D L
(A)- 1, 8,5 B) 1.2 4
) 1,25 - (D). 2,85

27 CDHS/19
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67. Match the following activities :

(@) -

(b)

()

Making beds Seasonal tasks
Washing and ironing 2.  Everyday jobs

Preparing for holidays 3. Weekly activities

(a) (b) (©

J\z 8" 1

(B)
©)

D)

1 3 2
2 1 3
1 - 2 3

&Gy @5”@5@]@“6“ Ceuenevaener GILIT(HES5.

()

®

(©)

~(A)
(B)
©)

D)

CDHS/19

u@sensew el flsge 1.  umeusre Ceumavsser
glemauliugid @evSHACur@eugib’ 2.  Senpd Geluyb Ceuenavaar

AR perpsE QFae SILLBIBse 3.  eurpb Casrmb Geliyd Ceumeavsser

@ ® ©
2 3 1
1 3 2
2 1 3
1 2 3

28



State which of the following step in decision making was indicated as dramatic
rehearsal by John Dewey.

Identifying the alternatives.
Thinking though alternative.

Selecting an alternative.

O R Lo ok

Accepting the consequences of decision.

A 2 gﬁ13

(C) 4 D) 5

ECpsan Siorafigsdan Cewdpampl ugsaled ebs Lgow grear ujel obs et
Brslurent @sdlans eranm @GHUMGE .

1. Upsseamangener cuemymisse

2. WG UPIPDDSMET SIELWITETLD &HesT (NGl S TaTemen

3.  aublpPmDEMET 4TS

4. m@@mﬂ)éaﬂd} Anpsanss CoHrbllsH &80 :

5. Sireflen Liewenar eF HMISESHTET(EHSE

A 2 B) 3

(S : ® 5

Assertion (A) : Management is an essential component of family living.

Reason (R) :  The need for management becomes inevitable to Identlfy and deal

with problem which emerge from change.
Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) (A) is true and (R) 1s false
(C) (A)is false and (R) is true
(D)  Both (A) and (R) are true but (R) is not correct explanation of (A)

sapm (A) 1 GODUuTPsmssE Coararey We Seudlunrer QemmmELb.

srmpend (R) @ sre wrmsaisCsnu aumb Wrssmansamar iflbgl SISmaT asWTEHUSDE
Cueremrentd jeudluinrdng,.

A) (A) womb (R) @rawr@mio &fl, Coaid (R) eremugy (A)-ellng sflwrer efletésid

B) A) &fl gama (R) seum

C) @A) seum yame (R) &

D) (A) womd (R) @rewr@bd &M < emed (R) eranug (A)-68n@ sflwmrer aﬂa‘résa;u-)éoeu

29 CDHS/19
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70.  Match the following :

(a)
(b)
(©)
(d)

Resources
Goals
Values
Standards
(a) (b)
5 2
5] 1
5 3
3 4

[ T U S

Flexible and conventioﬁal
Intellectual and habitual
Long term and short term
Intrinsic and instrumental

Human and Non human

&Gy Qar(hssiulLemeuenw sflwrs Curhsg)s.

(a)
(b)
(©)

(@

(A)
(B)
(©
(D)

CDHS/19

GUGTRIGET
GDCararse
Crwid

s

(a) (b)

L 9 v n
N

[\ S

7

GphlamasCshu LDrrgDai«_Lq_u_rmsu umnburﬂmmrremebeu
LLP&ESSDEG UL L6 @t'_umrrmem@

GnIdw sreb, BT sTeLd

@u.:sbqem_wemleu SIIETL_&n lq LIGNE

welgeuard HHD el eueTRIGET DD THME

30



Which one of the following is an example of welfare catering?

(A) Restaurant WHospital
(C) Banquets (D) Resorts

rUCHETECHETH CFwhUL TS 2 awrey HmeUaTEISET 6THhIE 2 GTeTeN ?
(A) ez ewreusd (B) wmsgieuwanen

(C) Guems@eul- (D) MAgric

It refers to milk with no fat.

(A) Toned milk M‘ Skimmed milk

(C) Homogenized milk (D) Dry milk powder mixed with water
QamplL| 8581 PHHGID E,é;eSLZJULLL_ LITE) GUENS
(A) GuLrmerl umed B) evdlib Lmed

(C) G@w@mn@mwd&@ Umed D) Hfe uém_r'r SDTEHS LT

All the activities carried out before the arrival of guests like area clean, presentable

s
w Mis — en — scene (B) Mis —en — place
(C) Mis —en — service (D) Mis —en — ready

2 amreussdlen al(mBarafl QUHEMSEEG (P QL LD SP&ETEELD, HNUIMWWTSeD GFUISO (P
(A) Blev — erem — Fai B) Bev - erem — LGerev

(C) e — eraim — srelen D) e - erem — Qg

31 CDHS/19
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74.

75.

- 76.

It means a readiness to perceive in certain ways based on prior individual
experiences.

(A) Observation (B) Projection
Apperception - (D) Inventory

wimsw gafliulL sgueksaien iglium e foauflsafldr o amry swrrrs @mluug
@ gen Gl e ' :
(A) saeafllgsd (B) weaariy

(C) =Caur(® 2 emrigd D) el Leumenrud_cd

Theories suggesting that ageing results from the continuous use of cells and organs
in our bodies

(A) Stochastic theory M Wear and Tear theory

(C) Programmed theories of ageing (D) Telomeres

B 2 Lelé 2 6Ter Si@ESHEr WHMmW 2 puLsmer QsrLibg LwaTUBHSHUST® IWSTSDS)
erayid Carur

A) oo Csriur@®

(B) gnm wms@n Carlur®

(©C) euwsreugnHsrean AL O LUl L Carlur@ser

(D) Qs @riguurgw Carum@

4

A stage in Piaget’s intellectual development where the child becomes capable of
logical thought that achieves concept of conservation.

(A) Sensori motor
Concrete operational

(9 Pre-operational

(D) Formal operational

Burlglgen oflauribg aerissl wapuld em Ghes siés fHurar fbsomear Sner
Qubm UTEETUL SHSMS ML D S D

(A) Qeensrf Gorlrm

B) sradlf Qewdur®

©) weansaligw Qewour® (9 uiuGraeae)

D)  weonwrer Qsweur® (uriwe < LGrseaTe)
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7

78.

TR

The inability of young children to distinguish their own perspective from that of

others.
(A) Conservation Ego centrism
(C) Assimilation (D) Object permanence

Am Gerenensear ghiger wenGeanmaeams (Qureviblul yeu) whpeursafl b @mbs Coumpu®s8s
Q&rerer @uiewmento

A) urgsTiL ganew (senerGousan)

(B) seapeariyeursb (FGsr Qg _fledln)

©) g,eb‘rmuﬂﬁ@g;@b (S e Cavserr)

D) Hrbsro (LEgL Quinbearsreay)

Good boy — Good girl orientation is the stages of moral development described by

(A) Piaget d' Kohlberg
(C) Erikson (D) Frued

Beve enLiwen peve Qua Crra@hlere eramig) &ribs euarisélufen Hlaneaser eram efleuflgseur
A) Qur@gl B) Csro@uis
(C) eflagen D) QGymic

An Erikson’s phase “industry v/s inferiority” occurs in the age group of

(A) &-Tyrs. \d"s—llyrs
(D)

(C) 2-3yrs. 11 — 14 yrs.

crflgsafien smppren Qsmfler i smpey werlureTw eretug (Qemevgfl  vis

@eniflwrily) erbs auwdler Hlsndmg?

A)  5-7 awwdlew : B) 6-11 aswdev
©) 2-3 awdd D) 11-14 awded
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80.

81.

82.

83.

The objective of POSHAN ABIYAAN is to
(A) increase economic status reduce the morbidity rate

(C) toimprove the cognitive skill (D)" to reduce malnutrition

“Guregmen SQwren” posslL e Crréswreang
Q)  Qumrmernsry sréms Cuobu®Es (B) Cmruien eldlssens Goonés
©) <leys Hoenar CobL( S5 (D) ool 558 @onma s

Which of the following activity is the example for gross motor skills in early
childhood?

(A) building blocks (B) making clay objects

(C) paper folding \91 catching large ball
Speu(meuaeubmieT eTg) Ghangsailer ‘Errev CurlLmi Hlyemés o-gryerd?
(A)  wrsLgrEHaer s Leawly (B)  safloar eflenerwum’ @

(C) Guuur wysseo (D) Quflu ubgismer Yig&560

Learning an appropriate ‘sex role’ is a child developmental task of

(A) infancy (B) babyhood

q early childhood (D) late childhood

Qummsslorer ‘Glesev Grre’ updlw sidle| Gbasuiler erbg Liheugdle cueridng)?
) vilamgppes (B) @arEpios

(€C) wyeal umeub D) EYwhesl LB

In which of the following types of the baby’s buttocks would be delivered first?
(A) Spontaneous birth (B) Transverse birth
Breech birth _ (D) Pre-term delivery

Spsaam_cunile erhs werp WrsausHa AL LD oorausts Graudlssiu@n?

(A) srgryemt Syseud (B) yrrenevGeuiev Gyeaud
(C) Sf# Gpseud (D) @en Grseud
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84.

Which of the following facts are true regarding parental styles on children?

1.

2.

(A)

]

Children of permissive parents become selfish, aggressive and unsocial.

Children whose parents are either authoritarian or permissive tend to resent

those in authority.
Children of permissive parents disregard the rights of others. ‘

Children of both permissive and authoritarian parents tend to develop better

personal and social adjustments.

2, 3 and 4 are correct, 1 is false (B) 1, 2 and 4 are correct, 3 1s false

1, 2 and 3 are correct, 4 is false (D) 1, 3 and 4 are correct, 2 is false

euartii Qb penmuiled SEGERTL dahmisamch 2 eRTenLDWITETENE. GTEN6U?

A)

(©)

geplrnd  Cerhs@n CQuDCnorisgeflen GLHMSSET SWHOWLISAD, &S 2.MHEY

SIDDeUTT&EED, PIL(NSSETOTETEUTTEE|LD @)(H&ELD.

&EBSITD CQar@éEn whmb gstrorar QupGpriseier Gwhmsser Slary

cursssSlentl_ib Hemb Casrer_curgsarms @\(mLUi.

sspdld  Cerhsen  QupCpriseflar  @pbamgsdr wHpeumeLW 2 flewsemar

SIGULDSIILITTSET.

sshSrd Qar@éEn wHmb dsrrorar QuOCnrisaien GLbBmSsT Seflil L

 LDDMID FPS RSGIEDPUILIL 60T STerL(Heu.

2, 3 wpmid 4 &, 1 &l e B) 1,2 womw 4 &f, 3 &fl e

1, 2 oomwb 3 &, 4 #fl e D) 1,3 womid 4 &f, 2 #fl e

35 CDHS/19

[Turn over



85.

86.

817.

88.

Which of the following programme is incorrectly paired?

(A) Mahila Samridhi Yojana — 1993
(B) Annapurna scheme — 2000
(C) National Social Assistance Programme — 1995
m Indra Mahila Yojana - 1997
Ep&saTLUDMIET eTg Heuprsl QurmasUILL (HaTeng)?
(A) wablerr soflf CurgenT — 1993
(B)  ienaniyiaorT i — 2000
(C) Cragene Goradwd sellevr e’ S  — 1995
(D) @nslyr wablerr Cuimrgenr — 1997

Who said, “The process by which two or more people exchange ideas, facts, feelings
or impressions in which each gains a common understanding of the message”?

(A) Schramm (B) Berlo
Leagans (D)  Aristotle

“sseued GarLiy Gewdler euflpanser @m uwerallseaflen LSl@HD erameanTd, 2 6TENLD,
2 ewriey, urdluysear Gurenm Qurgeurar yflgeors @)mssan Couarm(Hib” eremm sadlweuiwmi?
(A) evgmb (B) QuiCGer

(C) &Ssamev D) oiflevmige

Which is the fundamental objective of extension?
(A) To assist people to discover and analyse their problems
(B) To disseminate information based on research to people

(C) To develop leadership among people
Development of the people

eilfleurdsgdlen igLueL. Crrésd erg)?

(A)  waseflean Gyeflanansmenyb isnE N Sraysamenyb sam (9458 256 560
(B)  eyrmusdl Qeldlsamer waser Lweamu(RSEID euensusled LFLILjeug)

(C) wasaflen_Cw sewaenwls uaTenu CLLLHSEI5H

D) wéser Cubur®

Which of the following employs extension process as a means of programme
implementation for rural welfare?

(A) Extension Education (B) Extension Work

q Extension Service _ (D) Extension Process

Spssar_cunmer Hyrwlyp waseaflear poaurpailpsrs ellfleurss Qswdwpamn LLETUHSHID
S Qeweur® eragy?

(A) &fleurss sevel (B) &ffleursgs wenfl ,

(C) ofleurss Caenau (D) effleurss Qaweapenn
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89.

90.

Name the educational activity that motivates and mobilizes a community to action,

to solve a problem.

(A)  Exhibition M Campaign
(C) Newspaper (D) Chart

Spssa@Tcupmier ey LTL S L Cawdwpep 2ass0u(S58560 WHMD SIHTHSD LD
FUPSTLI @&uéonLLq_sh Wréemansamer S| sraws Clelidlns)?

A) Qumr@l sré (B) wesmd @:@mg,g@

C) Qsifs srar D) &rit |

In a non-formal educational programme, the syllabus is based on
1. Standardised course content.

Needs of the learners.

2
3. Expertise of the trainers.
“

Needs of the organization.

-

(A) 1istrue, 2, 3, 4 are false w 2 1s true, 1, 3, 4 are false
(C) 3istrue, 1, 2, 4 are false D) 4 is true, 1, 2, 3 are false

ergen 2iigLiLenLude wpenmarym seailudler LTS L 1D enwdsliLl (Hererg)?
1.  flaveowrar unL,lgG?gsrr@qu

2 vwerretseafler Caeneuger

3. Osreuuraisaiier Csreflg emanio

4. Bimeuengslen Coaneuser

A) 1wlEwef, 2, 3,4 &f e (B) 2wl @®wbef, 1, 3, 4 M =0

(0 3wl@wesf, 1,2, 4 sf e D) 4w @Gwesef, 1,2, 3e&fl e
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91. The steps followed in process of transfer of information by a person to another
person are 1n the sequential order.

1. Idealism II. Transmission

III.  Encoding 1IV. Decoding

V.  Receiving VI. Action

(A) LILIILIV,VIandV q I, III, II, V, IV and VI
(C) VIV, IV, 111, Il and 1 " (D) I, 1II,1I,V, VI and IV

@M BUT LHADTH BUGSEG Sseuasmer wLIHOL umildle Gaupplu@h ugsear eufles
@auauflensulley 2 eraren

1 SHSHWD _ II. ufwroysd

III. @Efwurésd IV. @hQuwissed (14Camgrh)
¥ Qumised : VI. Gswé

A) L II, II1, IV, VI wpmn V (B) I IIL II, V, IV whgw VI
(C) VL V,IV,III II whgw I (D) I II1II, V, VI wpgyw IV

92.  Who gave the following model on communication?

Source Transmitter Signal ———| Receiver +——| Destination
(A) Berlo ' (B) Leagen
q Shammon-Weaver (D) Aristotle

Epssan_ geeud uflrHn wrfleow ghseur wmi?

LD SLSGILIGUT sflgens ——| Qumueur WPigey
(A) QuiGear (B) osen
(C)  agmwerr-eieur _ D) Mevmge
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93.

94.

Match the officers responsible for ICDS implementation at various levels

Level Officer
(a) Village 1. CDPO
(b) Cluster 2. Anganwadi worker
(c) Block 3. Collector
(d) District 4. Supervisor
(a) (b) (c) (d)
A 1 o 2 4
B 4 3 2 1
2 4 1 3
)" 2 1 4 3

QaucuGauy MHenwsefller glgerev FL Cewersssdng Gurplivirer ifsrismer

Qur(ps8i5.
bleneo <iSlail
(a) &grwobd 1. Slgde
(b) QsrEd 2. Smseeuriy Liewfl wirer
(c) eulLmpbd 3. l&ur
(d) wreulLib 4. Gpumreneuuwrart

@ L W)

@yt 3 2 4
B) 4 3 2 1
€ 2 4 1 3
@) 2 1 4 3

GRAM PANCHAYAT funds must be lodged in

(A) Post office (B) Co-operative society
(C) President of Panchayat w Government treasuries
&ymwo ugprrwsdlen Bl emeussLLEHLL QL b 6TF)?
(A)  =i6pE6 SigeUESLD | (B) &l (mey shsd
(C) Slpmo LERFTWSE) FOEUT D) <rsris HMHapLD
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95.

96.

97.

98.

89.

Which 1s the primary unit of local self-government? _
(A) Block panchayat Village panchayat
(C) Panchayat samiti (D)" District Panchayat

2 erenm_ludlen WPSETEILD SN, eTHI?
(A)  eaprl 8 gerdlwd (B) &lgmw sarpm_4
(C)  uErsTwSs F0S (D) wreulL sayr &

Which one of the following programmes was started to rehabilitate displaced
persons from Pakistan?
Nilokheri Experiment (B) Firkha development scheme

- (C)  Etawah pilot project (D) Marthandam Project

Spssramid HlLmselld ahg qeam urdavsreafldr G mbHa @Lbtuwirbg puisefler
mIeUTPeNHETs Hleuss il L &) ?

(A)  flCarsfl Cargenan ' (B) SQisr Gobur' (s b

(C) @umeur gpenCGearrmig Hi_L1b . (D) wriggrenTLb S b

Who started Nilokheri Project?

(A) T.Prakasam (B) Mahadev Desai
(C) V.T. Krishnamachari S.K. Dey
HGeraifl HliLsmg <, rbllggeuir wir?

(A) g YGysreb B) wsrCseu Coemi
(C) @&y Simesewrorgsifl D) erev.Cs. G

Who introduced Firkha Development Scheme?

(A) S.K. Dey (B) V.T. Krishnamachari
q T. Prakasam D) Mahadev Desai
ooldlirgm Guibur’ (s S samg AN WPSULRSSH 6T wimri?

(A) erev.Cs. G (B) el fmegpemrionsarfl
(C) . YGysred (D) warCseu Cssmi

Which one of the following rural development schemes received assistance from
united states?

(A) Firkha development scheme Etawah pilot project

(C) Nilokheri Experiment (D)" Marthandam Project

Spsaranib sarys Cuobur () S kselld arbs pen oiGwlésreler B o geil Qupng?
(A)  JGisr Coburl (s S b (B) @uLreur wenCGenmig S b

(C) FHlCarsfl Cergenar D) wrigsremb AL
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100.

101.

102.

103.

A research attempts to evaluate the effect of method of feeding on anxiety proneness
of children. Which method of research would be appropriate?
(A) Experimental method Ex-post facto method
(C) Survey method (D)" Case-study method
QM GYhms uslLwrer SawwuyLalds@gn  Curgy 2 ameeflludlear  eflenerancu
wHOGQeusnarar g rmiss Pundlulld b eums QuTmSsLoTeaTg)?
(A) Gersaen e (réev@fQuam @) (B) Qe sryenll wenm (erevGurevl. CusL.)
©C) sawss@®uy e (57Cau) (D)  urmofdiy e wen (Caev-6uL_ig.)
A type of sampling which involves grouping the population and then selecting the
groups rather than individual elements
m Stratified sampling (B) Cluster sampling
(C)" Random sampling (D) Quota sampling
@g w&sar Aerasamwu QaTEss Wer salluul L sampsamer e, Guasmer Caihbls(H&EW0
@ rEfl uens
A) Qumssd wrdf (vCL_Menui) (B) Qsrgg wrdfl (feravii)
(©C) &yop wrdf (Crenib) D) ¢&&80 wrHf (CariLmr)
A common test in research demands must priority on
(A) Reliability (B) Usability
ﬂ’ Objectivity (D) Applicability
< rmiusélsaiier Qurgeurs Qis Cersmanss wearayflenn safiss Ceauar(Hid
(A) pLUSS sETEMLD (B) uweruriig
©) yndee D) QummHssEsigw senano (2 uGWITSLD)
Find the type of sampling in the following
For instance, if a 4% sample is desired, the first item would be selected randomly
from the first twenty five and therefore every 25% item would automatically
included
(A) Non Probability sampling (B) Simple random sampling
M Complex random sampling (D) Stratified sampling
Epssam_cunble 2 drer ey wrdfl wpanaw 2ihs.
4 szeidls wrdfl Csewau erafld, wso wrHA s 25 2 @UUGWSIBES Frow
weonwl¥e Csipbs@ssuul B, AOSS LDrrg]rﬂs;Grr gabeurm 256eug 2 BUUIGWTS
Caip0sHsalLHEng.
Q) Pewsse; sders wr (B) erafigrer &yom wrfl
(C) Sssoren Eypm wr D) <@®H&E wrdfl
41 CDHS/19
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104. Which of the following facts are true or false.
(1) Feeling test 1s a type of technical test
(2)  Microscopic analysis 1s a type of technical test
(3) Burning test is a type of technical test
(4) Chemical test is a non technical test.
(A) (1) 1s true, (2), (3) and (4) are false W(l) and (4) are false, (2) and (3) are true
(C) (1), (2) and (3) are true, (4) 1s false (D) (1) and (2) are true, (3) and (4) are false
Gereumid cursSlwmnsatier #fl, seumrer cursSlwmser wreneu?
(1) o eawiey Gerganan Aamflom_u Gergmarn ,@EWw
(2) mewenflu uELUTLey Cgmflamn L Cerganan @0
(3)  erfluyd Cargenen eramuig) e cuans Gamfleom LF Gargener
4) @rerwen Cergenar Qgmam L Carganer e
A) (1) —sfl (2), (3) wpmb (4) - seum B) (1) womid (4) - geum, (2), (3) - &fl

©€) @), @) wpmppd B) -&f () -saumy (D) (1) wHod (2) - &, (3) wHmb (4) - seum

105. Match List I with List IT and select the correct answer using the code given below list :

List I List I1
(Process) (Fabric)
(a) Cireing 1. Linen
(b) Raising 2. Silk
(c) Beetling 3.  Fuzzy fabric
(d) Moireing 4.  Embroidery effect

(a) (b) (©) (d)

A 1 3 2 1
B) 4 3 2 1
2 3 1 4

D) 1 2 3 4

afleng I 2 e euflens I1-g0 QurmsS), sflwren @HUE 2 drar uflamas CoTHASHES.
cuflens I cuflens 11 '
(Qeweur(®) (gewanT)

(a) Swflm 1.  &ewen

(b) Qrifm 2. wl@®

() Sielm 3.  y&ysgenfl

(d) wrflm 4. Culeogibhs eugeus g
(a) (b) (c) (d)

A 1 3 2 4

B) 4 3 2 1

© 2 3 1 4

D) 1 2 3 4
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106. Which of the following statement 1s/are true/false?

RO

(1)
2)
(3)
(4)
A
B)

Tigering is a finish given for pile fabrics
Gigging finish improves strength of fabric
Shearing levels the surface irregularities
Fuzzy finish is produced by napping

(1), (3) and (4) are false, (2) is true

(1) and (4) are true, (2) and (3) are false

m (1), (3) and (4) are true, (2) is false

(D)

(1) and (2) are true, (3), (4) are false

SpssaL sapmsefiar sfluraramel/samrareoeal wrene?

(1)

2)

(3
@
2V
(©)

g &afln (pile) v genfluller @mdu L ée

&ladlm @m0 L&e ganfluden uawdans CobuBSEHID -

agpwifln gewfluller CopLndeamns slILIBHSSID

Hays @nduuds sUlkn epeb elwuiu@ng
(1), (3) wpmid (4) — seum, (2) — & B) (1) wpmid (4) — &, (2) wHmid (3) — seum
(1), (3) oppd (@) — o, (2) — ey (D) (1), @) — o, (3), (@) - seupy

State True or False :

(1) Modern water proofing materials include vinyl resins.

(2) Koroseal water proofing process can be applied to any finished fabric
including acetate.

(3) Cellulose fabrics are given mildew proof finish.

(4) Dry cleaning affects the antibacterial finish.

(A) (1), (3) and (4) are false, (2) is true
(1) and (3) are true, (2) and (4) are false

(C) (1), (3) and (4) are true, (2) is false

(D) (1) and (2) are true, (3) and (4) are false

aflur/geupm : :

(1) meSear S UYL Qunplser elGare Qyfler Qarar(Herensg

(2) GaCyrge B erélmiuy Qewaapann SHCLL 2. Qaram gals@EnéE QsrHEsomd

(B) Geag@iCaoren giewllaEnsE L, Ehens STaTTer ST Lyés eupmsliu®BEng

(4) ey ursleflur LEremes 2 @i &850 LTSHES DS

@A (@), 3) vopw (4) -saum. (2) —sfl  (B) (1) wogd (3) — &, (2) wHYID (4) — seumy

© @), 3) wogw (4) —&f. (2) —saum (D) (1) wopw (2) — &, (3) LDyW (4) — Heuy)
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108. - Match List I with List IT and select the correct answer using the codes given below :

(a)
(b)
(©)
(d)

List I
(Stain)
Blood
Candle wax
Chocolate
Coffee

L

(d)

B = W

- List II

(Remover)

Scrape with sponge with perchloroethylene
Soak in cold water then ammonia and wash
Soak in cold water and wash

Wash with hypochlorite

eufleng I 2 e cufleng I1-gpUs Qunmsd sflwrer GHUIEH 2_erer udlaawsd CoHTHOSMHES.

(a)
(b)
()
(d)

A)
B)
©)
D)

CDHS/19

cufleng I
(seo)
Qésd
Quwe
sr&Gal

sring

o v e

(d)

=N e W

auffleng 11

(B&@d garwenid)

Qamyeaimg wilen Ligpered Quird@CamGrT erédleSen Caligean
@afliBfe carpancusg SiCuoraflur Qasre® s(pea s
@eflibile) emyeneausg) spaysd

amanIGurEGCerrany Qareat(h &(pe g e
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109. Which is the alkalis used to remove stains from wool and silk clothes?

110.

111.

M Borax and dilute solution of ammonia
(B)” Natural soap alkalis
(C) Sodium hydroxide
(D) Bromide

souefl wHmbL LLE smlsalar smpsmer béGausHE LWLESTLHSSLLOL &TTH ST

2 eniw QummeT 6Ty ? :

A)  SCurprsen wHmD bCuraflureler Hirés semyad
B) Qubes CariiGen srymse

(C) Camgwibd ewapl_gréans(H

D) yCrrenw@®

The properties of any fibre or filament 1s dependent on the
Physical and Chemical structure

(B) ° Plane structure

(C) Texturized structure

(D) Fundamental structure

@ @empulle LGRTLSET cTH&T ETTHE) @)(HEGLD
A) QunlGwed wHmb Ceududuicd LT s
(B) serb s Lemwoliy

(C) pworer sy

D) eiglueL sl ey

From which Latin word does the word textiles comes from?
(A) Felt (B) Web

ﬂ Texere (D) Pescale

QLaeverL e eremp Gere @sdar  GQuomflude @@g)gﬂ Ths  eunisangudled(hHbg)

ar(h&sLILBHSmE? :
(A) S Quel (B) e
(C)  Quaevwr (D) Cuevsed
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112. Among the following which method uses ink jet process?

(A) Rotary screen printing (B) Block printing
m Digital printing (D) Screen printing
G Qar@asiul (Harer wpeopsalld hs umsuTar IFEHBSNEE @LULLES Wepuid
&S LU g
A) G endléd weannulildr &S [HS0 (B) sle ulenme SiFfHse
©) gl epemuier s8HH (D) deny epeoid &8Hs0

113. Which of the following methods are used for yarn dyeing?

(A) Piece dyeing (B) Stock dyeing
m Skein dyeing (D) Flocking
sarreuren Brellenpsanet sTbl(HeusnH @ LWaTUHSSID (Perm 6Ta)?
Q) geaflleer smuOHige - (B) mim@uen srwidl(psed
(©) san@®mre smubllHse (dvden) (D) Suetrsd

114. The process of imparting colours to a textile material is known as

(A) Printing W) Dyeing

(C) Knitting (D) Knotting
gieflsaflen G euameandHeusn@ creucumn DimssiLBEnsg?
A) «o58@Hso B) srwCwHmsed
(C) Yenemen D) wpyss®

115. Which method helps to reduce the budget allocated to purchase new cloths?

(A) Laundering m Care and ma_intenance

(C) Removal of stain (D) Dry cleaning

W enLsmeT uTBIGeuSDNE @IsaILMHWL UL CMUL ML G®DEEGLD (WPeD WTene?
(A)  sames Qaligd (B)  ugmofgge

(C) sonsmer héEs0 D) o ofsvama
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116. Which of the statements are true or false? ;
(1) Nylon is affected by concentrated solution of the strong mineral and organic
acids.
(2) Nylon has high resistance to concentrate minerals and organic acid.
(3) Nylon does not affect boiling with 5% HCI. '
(4) Nylon fabric do not have resistant to perspiration.
w (1) is true and (2), (3), (4) is false (B) (3) and (4) is true
(C) (2) and (4) 1s true (D) (4)1s true (1) is false
&fl LHmIb Seum UTEHWIRISET 6Tg)?
(1) ewperen @enpwrensg SiLisSHwrear Were wHmib &flw blasdearme urdlasiubin
(2) eparer @eapwrang e whHmib &flw siblagdlamea Lrdly Gderod QHEELD
(3) eperer 5% siLisdurar HCI flreusdlenrer unrdlasng
(4) eporear @apurang NUTEsme SHEED S| LG
@) (1) &Ml wppid (), (3), (4) sau B) (3) wpmid (4) &
© (@) wogb (4) o D) (@) sfl wppid> (1) saup

117. Match List I with List IT and select the correct answer using the code given below :

List I List II
(Fibre) ' (Odor or burning)
(a) Cotton 1.  burning feather
(b) Polyesters 2. burning paper
(¢) Silk 3.  burning meat
(d) Acrylic 4. sweetish

(a) (b) (0 (d)

\dj‘z 4 1 3
B)Y 1 2 4 3

© 1 2 3 4
D) 3 -+ 2 1
Gemeusid I whmw I euflenggener Qumrmss)s
auflens 1 auflens 11
(mrer) (euragenar)
(@) umss L eflyb Gos
(b) wmreSlwen i 2. erflyw srélgb
(00 wl® 3. erflyd Qeonss
(d) <=sfds 4. @afluy eursenan
(a) () (c) (d)
A 2 4 1 3
B .1 2 4 3
(C) .1 2 3 4
(D) 3 4 2 1
n 47 CDHS/19
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118. Which of the following is/are correctly paired?

Fibre Ash
(1) Silk —  Crisp, dark
(2) Wool — Hard, round
(8)  Acetate —  Bnttle, hard
(4) Polyesters —  Light, featherjr

(A) (1) and (2) is correctly paired

w only (3) is correctly paired
(C) only (4) is correctly paired

(D) both (2) and (4) is correctly paired

Spa@Hudl L Qeoeanseiia/@amemin sfliurs Gaemdsiiul_ Lo wWrenau?

B , FTIDLUIGQ
1) uwlE —  GormGurmiurer, smmenwimer
(2) swbuaf —  SIQSIDTEN, 2_(THERTEN L UM
3) AGLL — 2@ W&, SlgETLOTET
(4) urewenLi —  Gwaedw, @mne Curenm

A) (1) vpgw (2) sflwrs Qerarrssiul L aeu
(B) (3) vl @ sflurs Qeanssiiul_Lg)
©€) @) vl sflurs Qearssliul Lg

D) (2) womb (4) sflwrs Geenss L me

119. This fibre is not self extinguishing when it is removed from flame.

(A) Modacrylics (B) Rubber

(C) Aramid m Acetate

@b pri SuSmHE ssHpUL@L Curg SWLOTE Dmeareudldama
(A) Guorl o&fds B) guur

©€) <Swrdl Qe D) HCGLL
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120. Which of the following facts is true or false?
| (1) Cotton yarn blazes quickly because of cellulose content.
(2) The éotton fibre burns with smell of hair.
(3)  Silk fibre smolders. .

(4) Acetate fuses and turns black.

M (1), (3) and (4) are true, (2) is false
(B) (1) and (3) are false, (2) and (4) are true
(C) (1), (2) and (3) are true, (4) is false
(D) (1), (2) and (3) are false, (4) is true

enaupd aursdlunseiier & Sioawg seupraraHemns GAUY®Hs.

(1) QsogiCarev o draTL &5 STFEIOTS Li(hsE BIe cilemyeurs erflglng

@) ums @ Wiy eriiluyb ureamen e erildlng)

3) UG Qawsdr ymstigliLma

(4) <G 2 B8 sy Hnwrs wrmb

@A) @), Q), (@) - e (2) - saup B) (1), (3) - seug. (2), (4) — &
© @), 3,3 —sf.(4) - sy D) (@), (), 3) — saum. (4) — &l

121. Which among the following fibres dissolves in Ammonium thiocyanate?

(A) Nylon 6 (B) Nylon 66
q Acrylic (D) Polyester
&C Qar@ssuu_(Herer @eapaafier g SbCoraflwb sCwrsLGaT i SIS LI ?
(A) peren 6 (B) ewmemen 66
C) <=sMals (D) urelwevLi
n 49 CDHS/19
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122. Match the fabrics with the weaves :

Fabrics _ | Weaves
(a) Gingham 1.  Twill
(b) Broad cloth 2.  Plain
(¢) Brussels carpet - Jac;‘:luard
(d). Brocade 4, Uncut pile

@ ®  © (d)

® 3 4 2 1
® 3 4 1 2
W\ 2 1 4 3
™ 4 3 2 1

Wemeu(mid gemflgaar|ib, Qpseysamanyb QUTHESSS.

gl Amp&ey
(a) gQmsrd | 1. (elle
(b) Ggrl ferrs 2. grgryen Qbse
() YGirseven eflflliy 3. msril
d) CCGsL | 4 QaulLiurs eud

@ ® © @

@ 3 4 2 1
B 3 4 1 2
© 2 1 4 3
D) 4 3 | 2 1
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123. Which of the following facts are true in the field of clothing construction?

(1) Sleeves should always be cut on straight grain except puff and circular sleeve
which are cut on bias.

(2) Sleeves are of three basic types.
(3) Halter and scoop are types of sleeves.
(4) The Katora for Katori blouse should always be cut on straight grain.
(A) (1) 1s true, (2), (3), (4) are false.
(B) (2), (3), (4) are true, (1) is false.
(C) (1), (2), (3), (4) statements are true.
M (1) and (2) are true, (3) and (4) are false.

Glemau(mLd el eulgeuanoliL] Pl shmisefle ereneu sflwrareneu?

(1) wsl LHmD eumerey @sesear ey wWHY msser alGUTEgD Collay damsulld
Qeu_L uuL Geuarr(Hid .

(2) ess6r sigliuemLule apearm euansiLI(HD

(3) amréL i HmID evenll TETLS enaaaTlen eUensuIT@LD

(4) s CLrfl grasiger s CLrfl LGS @ﬁlﬂmg Sangufer Geu i Ceauamr(Hid
@) Q) -sfl (2), 3), (4)-san

B) (2),(3), @) — &l (1) — seuy

©) (), (2), 3), (4) swaigg spmsEHD &l

D) (1), (2) — &l (3), (4) — saum

124. Which of the following is known as mushroom sugar?
(A) Fructose - (B) Maltose

(C) Sucrose . m Trehalose

STETTE FTEHMT TN HMPESILI(HEUGI 6TGI7?
(A)  ArsGLmen (B) wreoGLmen
(C) &&Cymev s e ) qﬂ@)rr@wrr@'v

125. Which acid impairs the absorption of calcium and iron in the small intestine?

(A) Citric acid (B) Malic acid
m Phytic acid (D) Tartaric acid
éﬂg@l_sﬁlsb sroflwib Hmb @by 2 Hléeliufeums eThs Siblen urdésng)?
(A)  AlLfg feod (B) wralls sudlen
(C) euys Sifleb D) vLrimrfs siflevid
n ' 51 CDHS/19
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126. Match the following :

(a) Nephrosis 1. Panc;‘ease

(b) Daiabetes 2. Ki'dney

(c) Osteosclerosis 3. Intestine

(d) Celiac disease 4, Blood vessel
5. Heart

() (b) © (d)
A4 3 5 2 4

B) 1 2 3 4

2 1 5 3
D) 2 1 4 3
Slemreupeuameunenm GlLm(HSs)s.
(@) QAm.LCGrTHlen 1. aseewrwubd
®) Fhdey 2. Opfra

() e Cuw r&&GerrGrrélen 3. L
(d) Qsedlwrs Crmis ' 4.  @rés prembd
5. @swubd

@ ® © @
A 3 5 2 4

B) 1 2 3 4
© 2 1 5 3
D 2 1 4 3
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127. Which of the following is correct?

(1) Cholesterol is present only in foods of animal orgin.

(2) Cholesterol is not present in vegetable oil.

(3) Cholesterol is present in both foods from animal and plant source.

(1) and (2)
<€ (@

B) )
D) (@)

Epssar_eupmer sflwrereeuan seirL.

(1) eSlengsaladmbg QuDPLUED 2 ama|selCaCw Claraev_Fre 2 dTarg)
(2) sraurmseafai@mbg CUDLILHWL 2 areysafledn GaraeavFrea @dena

(3) el wHmb sreurmsafladdBHa QuDULELD 2 areysafler Qarawavl_Fmed 2 drerg

A) (1) wpmid (2)
© @

(B) 3)
D) @)

128. Match the following hormones with their functions :

(a) Insulin Fa
(b) Growth hormone 2
() Somatomedins 3.
(d) Epinephrine 4

@ b (© (d)

M\ 2 1 4 3
®\ 2 3 4 1
€) 4 3 2 1
(D) 3 4 1 2

leimeu(meueneuHenmis GlLIT(HEHSIs.
(a) @ensedlen LI
(b) euer&d) apmiCGomen 2
(¢) GCsmorCGLr Quyensar 3.
(d) erlQar. . Lifler 4

(a) (b) (© (d)

Ay 2 1 4 3
(B) 2 3 4 1
. 4 3 2 1
D) 3 4 1 2

Lipolysis
Lipogenesis
Glycogenolysis
Collagen synthesis

ACurenadlen
NCurmeatélen
HeperCartlgCanmranaélev
Qarermen 2 (HeuTHe

53
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129. Assertion :

Reason

After absorption of the amino acids entering the liver, about 20
percent are used for the synthesis of proteins such as enzymes and

plasma proteins.

Out of this 20 percent amino acids used for synthesis, 6 percent of
synthesized amino acids will remain in the liver and 14 percent will

be released into the plasma.

(A) Both the Assertion and Reason are correct and the Reason is the correct

‘explanation of the Assertion

(B) The Assertion and Reason are correct but the Reason is not the correct

explanation of Assertion

ﬂ Assertion is true but the Reason is false.

(D) The statement of the Assertion is false but the reason is true.

auedlLimgs

ST FETLD

sOOTSEGET B HOCaT flonsmer 2 MHlgrflw Lﬁlﬁ)@, LM
20 #5651 HOICaT HOLBISET, TaaFIDSET HMID eTTevOr Lyshiser

Gurenrm LrgmiseT 2 (Hheurausn(@ Lweanuh LB Sleanme.

. Qereluse vweau@ssuu@n @bs 20 sseis HGam owlomsafe,

6 sg6is @rmdlamanss G oflonsd soadradld QMmeEn, Gogin
14 sg6isbd Warrevioreyé@er Geuaflui Liu@w.

Q) adlynpssd womw srrard @rar@n sflwraees WHHWL STreED UL nSSele

sflwren efleréaswrE0

(B) adlymssd womb sryewrd sflwrearg. pemmed srrewrd euedlumsseiler sflwmen

aNleT&&LD 40

(C) ullymissed 2 FTEDSTE LTI STFERTLD SEUDTEIS

(D)  adlymssden Sdl&Ems SeUDTEIS). LT STTERTLD 2 ERTENLOST 6T

CDHS/19
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' 130. Which among the following is a rapid cooking method?

131.

(A)

B)

Sauteing

Shallow fat frying

eoeu(meuaeu mled Gﬁ]mqeurrss Fenowed ClFILD (pevm 6TE)?

(A)
(B)
©)

(D)

eug,é;@g@
Genmeurer eramGlenTudled eumiGsHe
Sidlaomen eresrolemruded @Jgugg,éb

ser®H b D &{H &0

One of the following is mono unsaturated fatty acids.

d\ Oleic acid

B)
(©)
D)

CuorCerr oenCeéaCrl L (Srrs) @&rr@lju Sbleomisefley epeimm

(A)
(B)
©)

D)

Eicosapentaeonic acid
Linolinic acid

Arachidonic acid

@a0l& idled
AN&CaT gL LeGEIL Garmuils =ibleb

Sl e e

2, THCLrafé Sl

55
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132. Medium Chain Triglycerides (MCTs) occur naturally in the following EXCEPT

(A) Milk fat (B) Coconut oil

(C) Palm il ﬂ Olive oil

EpssaLaupile oadd  Bgqwbd Gelder Lardafleariar QupmswursGas @Lb
Qumallcrener?

(A)  umellen QampLiyy (B) Carsmi eremrGlewri

(C©) umb puie (D) opedleu eramGenTily

133. The rupturing of a cholesterol plaque in an artery with subsequent platelet
aggregation to clot an artery is

(A)  Embolic stroke W) Thrombotic stroke
(C) Thrombotic hematoma (D) Ischemic attack

@@ Qarwuy 56 Hasag o swall 2 mnasn® N0s55055 GG _Gleo Sy gy e

2_eTeng)
(A) erbureds evl_Cors (B) CrmbCumgé LsseUTHD
(©) &CyrCumgs anCGurGLmwom ' (D) @éds gréEgea

134. The weight loss and lessening of the body’s fat and muscle stores that accompany

cancer 1s

(A) ageusia q cachexia

(C) cohorexia (D)' anorexia

2 L& erenL @ammu, Garupliy smnse, sams garissl, Caearefler Gurg gL eug)
A4) gudlur (B) @ar#seagur

(C) CerQrafwr D) seEQrsafwmr

135. The method of clearing waste products from the body when blood passes through
semi permeable membrane of the artificial kidney is

(A) Peritoneal dialysis Hemodialysis
(C) Erythrodialysis (D)* Retino dialysis
Qewpens SHmBrasder sflurg ey awPflurs @rssn QeogbCurg 2L dld QmbE
SflaQUITHLES®ET HSHMID P! :
(A) QuAGLrelwe Luwmredledlev B) afGuwr_wreleden
©) eafsCrr Lwrel&lav (D) Qg Carm Lwredlflen
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136.

137.

138.

139.

School children aged between years.

(A) 3-—4 years , (B) 5-17 years
q 7—12 years (D) 10-12 years
uerafl Gwpenssaflen auwg erdlali(mhgl 6Ths euwg eueny GOHILAL Lu@hSlemg)?
A 3-4 auwsg B) 5-17 auwgy
(©C) 7-12 euwgy D) 10-12 cuwgy

Impaired sense of taste and smell are classic symptoms of which mineral?

(A) Copper (B) Molybdenum

ﬂ Zinc (D) Magnesium

SpsarL srgQurmlsaile erapBler @mpur® @8 wHmib eirsmean 2 arieller uveiagms
THUBSSID? '

&) Qeswy (B) wreligend

(C) asssHBTED D) Qeueflow

The amount of fluid given per feeding in a clear liquid diet 1s

(4) 0-30ml M’so—GOml

(C) 60—90ml (D)” 90 —120 ml

- Qsafleuren Syeu 2 amalle 2 amreuafliLgNE QaTH&sLLLL Sreubdlen oieame, eremmen?
A) 0-30 el (B) 30— 60 wed
(C) -60-—90 Hal (D) 90— 120 wWledl

The feeding that is necessary to rest the patients stomach completely is
(A) Supplementary : (B) Enteral
Intravenous (D) Liquid

Crmureflufen euudpenm (P(PeugIoTs UIGU[RES eTHS 2 amre Seuslwid
(A)  siment 2 awrey (B) @aruemu sl o anie]
(C) @enyreiarev 2 amrey (D) Syeu 2 awray
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140. Which of the following facts are true about Essential Fatty Acids (EFAs)?
(1) All EFAs are mono unsaturated fatty acids
(2) All EFAs are saturated fatty acids
(3) All EFAs are poly unsaturated fatty acids
(4) (1) only - (B) (2) only
v\ ®only (D) (1) and (3)

<pHwureudln Qarpiy sllomsmers updlu Spssar. sapmseic erg) 2 amewwireang?
(1) ereoor sHureudlu Gerwuy SbleonEnn GorGarr arerésaCril Camuply
2Ll BISET '

(2) erévar gsHwreuslu Aasrply dlemsErd sréaCrl Gamiy sidleoniger

(B) eroarwsHuraudlu Qarly SblemsEnb urd SaersCrl Garpuy Sdleoriser
@) (1) viiw _ (B) (2) wl@w

©€) @) wipw : D) (1) wpgd (3)

141. One of the risk factors for cirrhosis of the liver is

(A) poor dietary problem (B) lack of physical activities
m alcoholism . (D) smoking

saaSyailen ACrrHedev <Uss ThuL pafwwrer sryaflsafian @geb e
(A) Curewrer 2 away (penm (B) 2L Geweur® @doorssg
(C) srymud D) ymsGig &g

142. In nutritional assessment, permanent changes are considered for
ﬂ Anthropometry (B) Biochemical estimation
(C) Bio physical tests (D) Clinical examination

oarl” L §558) wHUSged, Blrbsy wrhnriser flapeagsrs smslu®b ufllGsrsaman erg)?
(A) wvaisrenarafwe B) 2.udr Geudlulwed wHSE
(C) 2197 Quibwe Carganan (D) wmssieu ufCersamaen
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143. Basic four food group 1s suggested by ICMR for

144,

145.

146.

Planning diet (B) Modifying diet
(C) Simplifying diet : (D) Controlling diet

ICMR ufbgienrss Sig L. Bres 2 ey Qs Slen Lwe erg)?
A) 2amey dlLbiHsd (B) 2 awellenen Gubu( s
(C) o eawmeileoven erafllgrsdl (D) e awmeilenan &_HUUBSSHL

In basic four food groups, which food group provides more protective nutrients?
(A) Group one (B) Group two
¢] Group three (D) Group four

9fig LI BrenE 2 e argulile erhs amEluilbla o Lame urgarsg LrTl&EEL 2 are)
QuImBL_&6T 2_6TeTg)

(A)  GsrEuy g6am (B) Qsreuy Qram®

(C) QsrEly eperm (D) Qsrely preng

Degenerative diseases can be prevented by foods rich in
m Phytochemicals and antioxidants

(B) Functional foods and nutraceuticals
(C) Fatty acids and amino acids
(D) Dietary fibre and water

&rdley Crmisemer cThs 2 ameilen ppaLd H&STD

A) eulCLr CoudluGlummLaer LHMmID <,60iq <), dHerdlL_erL
(B) o awallen Qeweur(® whmid Hlu, Crrdlu, Ll qser

(C) Qarepiiy olew wHmD HBGerT oslen

D)  sLEUUESSLLLL Briéess wHmb B

The fever inducing hormone is

(A) Thyroxine Pyrogen
(C) Insulin ; (D) Growth hormone
STLFFQIHEG STTERTLOTET anmiTGLOTET 6T&)?
A)  engyrsedlen - (B) eouGpmregger
©€) @enaedan D) euerrds) anmiGlomenr
59 CDHS/19
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147. An exception of the nutrients to the passage into placenta for foetal circulation is
(A) Carbohydrates Protein
(C) Fat (D) Water

smeueTir&Sl& @ Agriyer Garg euflurs Cursng o ara5558) TG ?
A) smiCGurenan Gyl (B) yrsw
(C) Qamupiy (D) sawenti

148. Hydrochloric acid is important for digestion as it activates
(A)  Juices (B) Alkalis
Enzymes (D) Fats

man’_GrrEgGerrfls Sblewb Qafloragdne wadlwwnrearg
(A)  sTmser | _ (B) sy cusnsser

(C) Qmrélsar D) Qsrepuy

149. Food is converted into energy in the body by the help of

Oxygen (B) Fat
(C) Carbohydrates (D) Protein
2 ame 2 gaSlujL e 2. edled <2,mmers wrHnULI(Heg).
Q) =safigen (B) Qsmepuy
(C) srCureman Gyl - (D) yrssesa

W Annatto (B) Lecithin

(C) BHA (D) Aluminium silicate
Qeuamr@enmiuder CarssuBWL 2 are| Caréamas Gummer

A)  SCan GLr (B) QaadisHen

(C) BHA D) sibaflub H&ECs
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151. The delay in processing and failure to cool cans quickly after processing contributes

152.

153.

to .
(A) Toxic spoilage Flat sour
(C). Hydrogen swell (D) Metallic salts

o awray UsULPEGSden Curg, GQeweorsssdear sTosb WwHNL Swgeurs Csersmer

GeflTell&s saublearme erhu(eusg)

@A)  pss Qslse | (B) yeloy gHuEse

(C) ewanl yner eissd (D) 2Cors oLl L&ET
Lactometer is used to find out of milk.
-(A)  Freezing point m Specific gravity

(C) Boiling point (D) Weight and Volume

r&GLmBLL i uredé erganar saw (g &a LweruBiEmg?
(A) gm;pﬁ]csmu : (B) yell mirliy sesrento
(C) Qardlflane (D) erewL HMID ser iaT6]

The most commonly adulterated foods are

% Tea, ghee, honey and dhal

(B) Cereals, pulses, rawa and oil

(C) Coffee powder, tea powder and ghee
(D) Salt, sugar, jaggery and sweets

T 2 aelley LiFlsrs sl b Qeuliu@éng ?
A) Gshr, Glr_r;;ul, Ggetr LHmILD LimLILY

(B) sraflwib, u@mliy, Feney HMID 6Tetrlewri

(C) &m4 gner, Caulene ger, Glbi

(D) =0y, srssey, Qeuceld, @eflliLser

8L CDHS/19
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154.

155.

156.

157.

The main purpose of hanging meat after killing is
to delay the development of rigor

(B)  to increase the weight of meat

(C) to avoid dryness of meat .

(D) toreduce the length of meat

wrflgseng G igwe L 6 Cgrmseil(HeUSDSTEN STFeTLD 6T6Hme?

(A)  aysi wriligew sEUUSHE (s0s Asl gwreums sHULSDHE)
(B) eeoLloa siflswrs srl (Heusns

(©) Qon&sd eupl 8 saenn enL W GmUuUsSn(E

(D) wrblesden fersams G@DUILSHE

Avidin has a tendency to combine with

@(‘ Biotin (B) Thiamin
(C) ¥ Riboflavin (D) Niacin
Sieflig.an T 6 CaHd SETENOW|EnL IF)?

A)  euCuriger (B) emswmblen
(C) eyCumQereien (D)  Hlwrélen

Asparagus can be classified under
leafy vegetables (B) other vegetables
(C) flower vegetables (D) seed vegetables

Sevuryaen ergen S1p QsTEGssLILGHHng?

(A) Sooyeuens srusHseT B) wpp srlisdeer

©) y-eums smLsdser D) QsrieL eums srsdlser

Porphyrin compound of chlorophyll has the mineral of
(A) Mn (B) Fe

w\ Mg | (D) Ca

usmsatsssler urfleouifler QgrElla ahs srg 2 UL 2 drarg?
(A) Mn (B) Fe
©) Mg D) Ca
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158.. When spices are exposed to irradiation dose of 1 megarad, it

159.

160.

(A) inhibits sprouting
(B) delays ripening
(C) disinfects

q inactivates insects and surface micro-organisms

warer Qurlsear sHireiés weapuied 1 Quaryr eredld gHuBD WrHHID
Q) p@aiums 50E805)

(B) uwss eeuliugled Srogid

(C) * Qsrdm GFHLILTOE® LTSI&HTEED

D) y&s oMb HETEUdTEeT QFwLL_Tg)

Products which are used in the place of fats while manufacturing low fat and low
calorie foods are

(A) Acrolein (B) Cholesterol

q Fat replacer (D) Trans fat

@onbs CQsruply () &Carfl 2w 2 arae swurflagn Curg CsrwpluseE udlors
CersstiuBb Qumr@mer erg)?

(A) <=6Cyrelen B) QsraevierTed

(C) wrf SemwssiulL Qarply (D) wrpmy Asrepliy

The property of solid fats to spread and get deformed when pressure is applied

q Plasticity (B) Rancidity
(C)” Winterization (D) Hydrogenation

Slawro Qarplien g SiwWssbd gouBin Gurg <ig uredl Yer gar ﬂmm&@.&; (oLl eumid

- BenenLpsE Gl ereven?

A) QpéY serenwo (B) &&@Ggsse
(C) Gﬁis'trrl_smq(‘éaqa&dﬂ (D) Qan’ CyrGmensen

63 CDHS/19
[Turn over



161. Cooking in a pan with a tight fitting lid, using small amount of liquid to cover only

half the foods
(A) Poaching m Stewing
(C) Braising (D) Simmering

curemTelludle 2 6T D LlILITEG 2 ERTEUTENS) f}rﬂsmrrgmb. Cuwe ursgdler o drer 2 awmeuTas),
tpiwred ey @assLL@LCUTE. <isar Yo Gaus @ausslLBSDs. Qbs 2 ey
Qewewenn E1p 2 6Ter eThs 2 amray Gewdweanuier iguemLulle) 2 ararg)?

(A) Guréélm (B) Ceusemeugsa
C) LEFLAE " (D) s @ousse

162. Cooking consists of placing the food below or above or in between a red hot surface is

Grilling , : (B) Roasting
(C) Pan broiling (D) Baking
2 awrency SaMaIS@ G Dwg S owg @@Luld meuss Swnd sambEEGD wWammudlen
Quwr
A) Sfleedin (B) amss®
C) LQrLsm (D) Cusdlm

163. An easy connected path along which the eye travels in any arrangement of lenses,
forms and colours are indicated as

(A) Balance Rhythm

(C) Proportion (D) Harmony

QI cgasmmuu%hm Car(hser, 2 (heumser, BlDmsdr ePlTs B SaseT em&6lETams
Qsriyenw, eraflgrs @eanamsasiul L euflsafldy Qedeug)

(A) swfleow B) @eaanriy

(C) sflwenoly (D) Qummssw

164. Qualities of colour are
Hue, value and intensity (B) Value, chroma and intensity
(C)  Hue, intensity and chroma (D) Woming, hue and chroma

Hlomseaien @eamrmser
(A) S, wHOY, SiLiey (B) wduy, yfsgsememw, i iey
(C) Aow, ysssaamw, i iay (D) ez eyeamrblene, Himb, Lflsssememo
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165. Suggest colours for a bedroom. |
1. Blue, blue green, green

2 Orange, yelllow orange, yellow

8 Red, Red orange i

4. Orange, Yellow orange

04 L : ®B) 2

(©) 3 - ; (D) 4

UDEDS DADDES THD HIDBISET .
1. How, b sbs LFms, LFME

2.  ID@EHSET, LDEHFET SOBS <247 (EHS:, LDEHFET

3.  Slauliy, feuliy 0BG 24,7 65F

4.  TEH&, LDEHFET HOHS T EH&

@ 1 B) 2

© 3 D) 4

166. Types of lighting are
(A) General lighting, bright lighting and local lighting
M General lighting, local lighting and decorative lighting
(C) Local I.ighting, decorative lighting and functional lighting

(D) General lighting, functional lighting and local lighting

- elemE mLDSHE0 6T CUENSSHET
)  Ourseirer sersgsdn Arars dlerbesd, @S0G MU Rarsgser
(B) Qurgieuren eflaré@ser, @flLsdb@Nu ellars@sedr, Simsry eflatd@ser
(C) efLsgdnelu elaéEsdr, owmsary efars@aser, @eusmeué;@rﬂm cllenggaer
(D) Qurgeuren elars@sar, Ceuamassfliu eflars@sdr, fllsHnEflw aﬂmé;@aém

n ' 65 e CDHS/19
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167. Techniques of work simplification are
j &2 Pathway chart

Process chart

2

3. Body mechanics

4 Mandel’s classes of change
5

Operation charts

A 2,3,4 B) 1,2,4,5

M‘ 1,48 (D) 3,4,5

Cauamaenw craflgréEd CFwpenn HIgmI&ES (PEDEET WITEn6U?
1. ;I;Gm_urrhsmg; LILLD

2.  BLOIGHMS LD

3. 2L Quiigeilwe

4. wIYsSL UTGUTHSET

5.  mewentlwiuLb Yflssdsea

A 2,3,4 B) 1,2,4,5
©€) 1,25 D) 8,4,5

168. The device originated in industry to study the changes in output of work over a

given period of time is

(A)  Work load - (B) Work unit

(C) Work output v? Work curve
Qsrpsrenauier Cauamaulen Geuafluii e Siflw o (Heurssliul L aueyuL LD
(A) Ceuewer Li@m - (B) Ceuena emay

(C) Ceuemaulen Geuaflum® (D) Ceuewer cuenrliLL_LD
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169.

Identify the statements which are true?

1. Accumulation of waste products lactic acid and CO, interfere with continued

muscular activity of the body.

o Psychological fatigue are of two types, boredom and frustration fatigue.
3. Yawning and discontent are symptoms of physiological fatigue.
4. Introducing rest periods betwen the work helps to remove the fatigue.

(A) 2, 3 aretruel and 4 are false w 1, 2 and 4 are true, 3 is false

(C) 1, 2,3 are true, 4 1s false (D) 1, 2 are true, 3 and 4 are false

Spsaam_ snpmsasaiie sfluraameaiamw Caibbs(H&sew.

1. Goégs flownd, sludle amy Curdan slleu@urmlad smssald sudame

2 Lpameariiy gou®Eng)

2. oemerd Gamieured Fellliy, Geumiumed gHu@LD SmaTUL] erammibd GLrHnSSre UL

senerliL eTaTm @(HeuensL(HID
3. saaruyb SHmudlufeneniowyb 2 L Haaerliblen 2 smyeanron@Ld

4. Gaewo Qsuyb Quruywsg @eLweLGu filg @uey a@hsssbsraaugen (b

wireneu GUTESSEETLD

A 2,3&f1,4sum B) 1,2,4sA3sam

C) 1,2, 3sM4sgeum (D) 1, 2 5M 3 womd 4 geum
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170. Match the following :

A B
(a) Non electrical equipment ..1 | Refrigerator
(b) Steam pressure 2. Washing machine
(c) Delay the growth of bacteria 3. Pressure cooker
(d) Major electrical equipment for wéshing 4. Vaccum
5. Cooking gas stove

() ®) (0 (d)

A 5 2 1 3
B) 5 4 3 1
M‘ 5 3 1 2
D) 5 4 2 1
e Frgenigmes QUTHSSS
A B

(@) e 2 gellenm @uikiGD 1. @efltergand Qui iy
ETSENBISET |

(b) Brrefulen SissWD 2.  gmausEb QubSTd

(c) &Amlulen cueriélenws 3. WHssé QsTlseven
G@pLLS)

(d) sewessvwau@w Quilu 4. &1 SEHHIL sHI

Wlensmged

5.  aumyer®uy

@ ® © (d)

A) 5 2 1 3
®B) 5 4 3 1
© 5 3 i 2
D) 5 4 2 1
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171,

Assertion (A) : Management process is applicable for all resources and finally the

quality of life on individual achieves is dependent upon its use.

Reason (R) :  Resources are the supply reservoir for use on the family’s specific

@A)

®B)

©)

management function.

Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) 1s true and (R) 1s false

(A) 1s false and (R) 1s true

ﬂ Both (A) and (R) are true but (R) is not correct explanation of (A)

ampm (A) : eoer @GhHbLu et HomsEpsEn  flieurs  GQewdepepsmer

SILOUBSFOMD. @HEUMHEDLIL QUTPE®S &SI euisar 2 LCurSlsEn

cueTmRIGEET GlLIT(H&S HMLEIDS)

srygewd (R) @ euarmser gm @Howub Hiurdés Csmauliu@n euearmsaflar emamurs

A)

B)

©)

D)

DDEDE].
(A) wppid (R) @rem@ud sl Gmgm.i:; (R) erenug (A)-eflp@ sfwuner cfatési
(A) #fl gyamed (R) seup
(A) gaug gamme (R) &l

(A) wpmid (R) @re® s, @pemme (R) eranug) (A)-efp@ sfwurer eflerésiode
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172. The essential characteristics of a good home maker is
i i Physical and Mental Health
2. Technical knowledge

3. Moral responsibility

4. Inadequate work experience.
&) 3,4 ﬂﬂ 1,2 3
©€) 234 D 1,34

(1 Beva & (HLbL Henevalluller .geuaﬂu_lmrrm (ST RISET

1. oLl WHMID e %@r,rrr.#;aﬁlu&

2. Qsrfomnlu sibley

3. @@é&sﬁ: Blenmpbs Cumrmitiyy

4. Geuene enuieLblementd

Aa) 3.4 | ®) 1,23

©C) 23,4 D) 1,3,4

173. The food service system adlopted by fast food outlets is
" (A) Conventional (B) Commissary
(C) Ready/serve w Assembly / serve
&iflsCGsanau 2 ammeussdler amaswmeriL(Bb 2 amey GCeameu DenlILEE QuWQreneT?
(A)  aipssiorar Sl B) silasl siewiy

(C) swryrs 2 arer ufwrmd gmmuu (D)  auflenstiu@ssis0 Sienwiy
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174. Match the following reflexes with its stimulus and responses :

()
(b)
()
(d)

Babinski

Rooting

Moro

Stepping

(a) (b) (c)

3 1
2 3=
2 4
4 1

s e SRS

1:

e

3.

4.

(d)

N W e N

Throws out arms and legs on hearing loud noise
Fans out toes on stroking the feet
Moves feet as if to walk when infant is held upright

Opens mouth and sucks on stroking the cheek

Spsan jaflFns Qewcsamar I( Al Qevgen) sigean “Grevureren” 2 L ear Glummege b

(a)
(b)
(©

(d

&)
B)

(®)

uriSlemend
€Tt Tl
CorCyr
AT,

@ ® O ©
3 1 4
2 a3 1
2 4 1
4 1 3

D)

11

2.

@

#5510 CHLL G L 6T HEHEDIWE STED 2 HMISED, SIHGSD
UTEEMS SL g amed HTed allfevsenar aflflLiLig)

uéﬁmrfﬂ@ggmewg,m@ Fn&dlGgs@n  Curg srosmen
pLULg CuTd BaTHEIeUE) .

SAXSMSS Sllgame® euTewd SnHg  FULUMUSHG
PLRIHD
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175. Who propose the following proposed that cognitive development passes through
discrete stages and that there are discontinuous?

Piaget (B) Montessori
(C)  Frobel (D) Erikson

Sifleurmma euerisdl gafllssall sl Lmsmer sLbg Yer @mbludler Qarigom <dlmg erem

&GS (Panlmdbseu
4) YQwurQgl : B) wrew Gerfl
©) WCrmQue (D) erfssen

176. A defense mechanism that attempt to disguise the presence of the weak or

undesirable trait by emphasizing a desirable one.
(A) Regression w Compensation
" (C) Rationalization (D) Projection
aHoussss om uammu CobuBSgeusaE apold LoeIaIDTe Sidag N(HOUSSSTS
uearrysaflen @mLienu weanés (pwhéléEd Qawuadper (shaTiL) Qurbluwpenn
(A) Yenemeney (MG Favaen) B) @uulsSh (srb@uenCssen)
©€) uvEsshey (CreameamaCssen) D) wearaflooliu@sse (96rryssen)

177. 1t is called as “True psychic reality” as it represents the inner world of subjective

experiences.
(4) Ego . W\
(C) Super ego (D) Instinct

B ssHoo Sguasdan 2 aelmlusms AT HHssiuiL@sseusTd Gs e @mamowmear
WCATHESI6U 2 GETEMLD HEMENLD GTem HemP&slLBSng)

A) seanyeaery (FCar) (B) weneps ymaser (@)
(C) =85 sanperary (@Uui wGsT) (D) e an@penriay (@amavig i)
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178.

179,

A pictatrial techniques is relatively unstructured and consists of cards which

presents vague pictorial material in black and white and a blank card.
(A) Projective technique (B) Rorschach technique
ﬂ The thematic apperception - (D) Children’s apperception test

@ Asdr miub @USlLearelld slLeamwssliuLTsg wHmn smuL, Celeremer WwWHMID
Qaunm i e uie Qgafleupm Sslr CummEaTsEmeT CUIPHIGLD SiL_edL_&eT |

A) yOrregligeu mILUWL

(B) Cyréers miub

(C) 8Cwlys HLCuTCsligen

D) Ewbmssd SLGUTCFlse (Carnn Cergsanar)

Which of the following facts are true regarding the causes for the changes in the

joint family?

1: Influence of education.

2. Influence of industrialization.

3. Inﬂuence of legislative measures.

4. Caste system.

(A) 2i1sfalse, 1, 3 and 4 are true (B) 1isfalse, 2, 3 and 4 are true
(C) 38isfalse, 1, 2 and 4 are true | 4 is false, 1, 2 and 3 are true

Sa_(D&@E&H UL Sengw HmID M, SPESETENILD SahMISHETc) 6TE) 2 @TEDLOWITETSI?

1. socfler Qedanss

2 Qsmfngiemmnuier Srésin

3. gUL_migefler ClFeurd@

4 &mdl el

A) 2wvli@wsem, 1, 3 whmw 4 & (B) 1wl @b seam, 2, 3 wHmb 4 &l
(C) 3 wl@wseum, 1, 2 womw 4 s D) 4 vl @b seumy, 1, 2 wHpd 3 &fl
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180. Assertion (A): Breastfed infants accept new solid foods more easily than do

bottle-fed infants.

Reason (R) : Breastfed babies have greater experience with a variety of flavours

which pass-through mother’s milk to baby.
(A) (A) 1is true but (R) is false
ﬂ Both (A) and tR) are true and (R) 1s t}_le correct explanation of (A)
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

sgapm (A) : ST (HBFHWL GRhHassdr, Yliglured @GSl @Guhbassamer el
erafidléd yHw cuens Sl 2 emreysamer rhms Clarardlermei.

gryewrd (R) STIULUTD HBHEID GLHDSSET g,rrulﬁurrc&@Sl@rjgj UQGUMSWITET &6y
SAGIUID GRHDSEEHES el Elng). '

A) @A) sfl yamme (R) seum

(B) (A) womw (R) @ran@w &fl. womid (R) erenug) (A)-elieE sflwmer ellerésin

€) @A) saum erred (R) #l

D) (A wogwb (R) @raw@w &fl. gemmed (R) eremugy (A)-alln@ sflwirer eSeré s

181. The eye, nose and ear form in one of the following prenatal stages.
(A) Two weeks (B) First month
m Second month (D) Third month

THs STUU ST Bleaveoudled e, ppdE, HMID &TF) 2 (Heurdng)?
A)  @uean(® eurrmsatied B) s wrssdHd

(©) @rarrreug) wrsgdle (D) epermreug) LTSES
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182.

183.

184.

Which programme was started by merging National Rural Employment Programme
and Rural Landless Employment Guarantee Programme?

e PMRY (Prime Minister Rozgar Yojana).

2 IMY (Indira Mahila Yojana).

3 JRY (Jawahar Rozgar Yojana).

(A) 1 alone correct 3 alone correct

(C) 1 and 2 are correct (D) 2 and 3 are correct
Caélwu 2arys CeauamesdLb wHm 2ars Hleowllear Caumeeariuiy 2 s8raunrss S sdar
@rEdlaanhs S & Cewe Yemeu(meueteunHmeT 6rg)?

1 9l erid 2™ s PMRY

2. geaweulIMY

3. GOg<yieudRY

A) 1w @Gw s (B) 3wl @ &

(C) 1 whmb 2 wi @b &fl (D) 2 wHmb 3 @b &l

Who should know not merely what to teach but how to teach people?
(A) Panchayat President ' (B) Councillor
m Extension worker (D) Ward Member

ESHERSE Tand GleTaells 5 Cauam(Bw eranueng 9L erlugd Ceraoals s Gmm@m GTEns
Csfbg meusdmes Ceuemiguieurm wmi?

(A) oaprl & wern FaneauT B) sayandleorr
(C) &feurss sigeuer (D) euri® o muQent

Which among the following is referred as an outline of activities to enable efficient
execution of the entire programme?

Plan of work (B) Project
(C) Calendar of work (D) Programme Planning

@@ H_L s panL_(pepniiLhSgiFelern FTFTDFD eTensLt ClLITmsss)?
A) Qewee HLLL(SSHS® _ (B) Sl oMsas
(©) Qoweder srewsg S L b (D) «nsmsmwu S LLL{ 850
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185. In the adopter categories of innovation — adoption process, the laggards constitutes

of
A) 34% m 16%
C) 13% D) 25%

Lglenw-556sH UL Qewapapuisr s6505H UL euamasaile Gearsmdluerseaier aldsd
(A) 34% - (B) 16%
(C) 13% (D) 25%

186. Match the community development programmes with the year of establishment :
Programmes Year

(a) Shanti niketan 1 1947

(b) Etawah Pilot Project 2. 1946

(¢) Firka Development 3. 1903

(d) Daniel Hamilton Scheme 4 1921

(a) (b) (c) (d)

A) 3 4 1 2
B) 3 2 4 1
(© 2 3 4 1

4 1 2 3

W\

&G Qar®ssiiul L sups S L idlsmssmar o (Heurss Ll (Herer e (e Gumrmsgs.

&L 1b QU(THLLD
(a) s&rhd HCss6mn 1. 1947
(b) @lLraureual Sl flsms 2. 1946
(€) oGisr QsraTens 3. 1903
d)  sralCud apmildLer H L 4. 1921
(a) b (0 (d)
A) 3 4 1 2
(B) 3 2 4 1
C) 2 3 4 1
D) 4 1 2 3
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187.

188.

Who gave the following model on communication?

(B) '

(©)
@)

Speaker Speech Audience
Aristotle
Shammon-Weaver
Westley and Machean
Berlo
Spssam gaeud uflorpm wrdflenw sbseur wmi?
Guégmer Cués ——— | UTTeneuWITeTiv
3iflevL_mged

(A)
(B)
(©)
D)

QS TLOGH -G 6uiT
Gleuen el nmib Clwédlwien

QuirCar

The English word ‘Communication’ is derived from the words.

(B)
©)
®)

Communist and Communicare
Communist and Commune
Communism and Communalism

Communion and Common sense

saeue Clgri eremm < midle eurisans erdled @mHg Gupliu L g?

(A)
(B)
©)
®)

sweflev wnmib &bw,eaflCai
S eilavL HMID SHDWLLET
sy,eaflsb wHmIb Sw,aredlsd
sueflwier wHmib SrioenblFemen
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189. Find out the correct sequence of programme planning.
(1) Teaching
(1)  Situation analysis and determining problems
(111) Reconsideration
- (iv) Deciding on objectives
‘(v)  Evaluation
A) @, @), (i), Gv), (v) w (1), @), (1), (v), (1)
(©)  (ii), (), Gi), (v), (v) | D) (v), (1), (), (11), (iv)

D auepebicrsivmer Gpri cafiosei s s,

O spOse

() @phoe armisd wpb Sréfomsmar o pf Goisd

Qi)  wpufomer Qsisd |

) @odgsmen e Qs

@)  wHusH Gsised

@ 6, G, G, @), © ®) Gi), (v), ), v, (i)
© G, (), G, (v), @) D@ @), Gi), @), i), (v)

190. Choose the right answer which refers to a plan of work arranged chronologically
(A) Objectives Calendar of work
(C) Evaluation (D) Plan of work |

sras Srwwrer Geume S L s@wlieu @hl&Ew sflwrear eflenLenw Gsfley Cews
A) Qose (B) Geuewa prismiig
©) wHulSE (D) uveflsHiLibd
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191.

192.

193.

194.

Choose the language from which the word “Extension” is derived
(A) Greek - m Latin
(C) French (D) Spanish
“ellfleurgsid” eremm Clerd erhg QwrNulalBHa S ssl0unng) erars Gsfle) Gswis?
(A) &Grssw B) s
(C) JN9Qpens D) evureaflesy
Which forum undertakes the social audit of all schemes for the welfare of the
people?
(A) Village panchayat (B) Block panchayat
q Gram sabha (D) District Panchayat
DS WEsET b LU uaflsaflar saps sanllsmasmu arbs @ CunbsTaréng ?
(A) Slgmw sergr_ 8 ' (B) oargm’_ & genmluib '
(C) Agmo sewu (D) wreul_L saryrl &
How many gram sabha meetings are to be conducted in one year?
N ‘ W ¢
€ 6 D) 8
R UHLEED THMan o s@US sl L kST HLsliuL Cauam@ib?
A 2 B) 4
C) 6 (D) 8
Which one of the following is a function of village panchayat?
(A) Administration of blocks

Construction and maintenance of roads
(C)  Approval of panchayat budget.
(D) Advising Government on developing activities
EpsaTamid eThHg eanm Symwo cargr Hufer QewdurLmEWb?
A) geamunsafler Hlifeursd
B) sreve SiwwEED WHMIL LFTLAGY
(C)  earpr’Sulen eure Qewa) JiMsmass @ULSH efss0
D) euariedl uenflsdar GHoHEH T&EE Hey ng,g;sb
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195.

196.

Find the wrong pair / pairs

i i) Descriptive research - Sutveys
(11)  Analytical resgarch - Critical evaluation of the materials
(111) Conceptual research - Related to some theory
(iv) Fundamental research — Fact finding enquiries of different kinds
(A) (1) and (1) (B) (i1) and (iv)

(C) (i) ‘ﬂ (iv)

geumren Qlenent/ @lenamTaaner seurL_Hlg

()  oSerés ey - sawsQs@ly

(i) uLuTbey JWey Wpen — @eanmls upMl eflworger WHISH
(i) smss ey ~ Ao Gsriur@ser

(v) eeluoLeiey . — o enawew senihsd

A) ) wpgd ) ®) (i) wpgid (v)

©) (i) ® @

The preservation process that consist of freezing and then removing of water under

a Vacuum is
(A) Dehydro freezing w Freeze drying
(C) Freezing (D) Sun drying

2 enpuef HnD ey sHNSH dwueupean Gasrarry maEn urgsTiy QFwaean
A) Bibsdl uefl 2 mpsa (B) uafl 2. awnpg 2 @issw

(C) uaf ppaid 2 wmEHD D) ©wu gafluld sTw meaussd
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197.

198.

199.

200.

Who formulated Etawah pilot project?

(A) F.L. Brayne m Albert Mayer
(C) Paul Hoffman (D)  Spencer Hatch
@Lreur apanCGenmig L Sens pepmLUILBSS weur wimi?

(A) erierev. Qe (B) <peour’ Quwi
(C) wre apm LCGer (D) evQuensr apr_ &

Who introduced cooperative system to rural upliftment and self-help?
Daniel Hamilton (B) Mahadev Desai
(C)V F.L. Brayne ' (D) Arther T. Mosher
Syrotiyn Cuobur® wvHpw  Fw2 sHlEE wPCstIb sl (ney  @wUMU
SMlpasliuBsSSweur wrr?
(A) Lreflwe epmidledr e (B) warGseu Czemi
(C) erliered. Qe (D) <isi. 1q. Coragm

Who introduced the idea of having village guide in each village?
F.L. Brayne (B) Paul Hoffman
(C) Spencer Hatch (D) Arther T. Mosher

gaiCleury  dlymosgdlaind @@  Hrmo  aflarly @mE&s Ceuar(id  eTetn  HHHDS
siMpstiuBsSHueur wri?

(A)  eroolleren. 96T B) ure apr.LiCoen

(C) evQuensr aprl & (D)  <yisi.g. Goragr

Find the type of sampling in the following

If we want to investigate the efficiency of nationalised bank in India, the first stage
1s selection of state, then selection district under that and selection of banks under
that

(A) Area sampling (B) Cluster sampling

m Multi stage sampling (D) Systematic sampling

Epsaa_eunbld 2 arer wrdlfl Corbs(H&EED wWenenw sl Hs.

@ndureilen Cafluwwwrssuul L whidlsalear fnamear eiia) Qeuw, wpsadle wrHoksd
Cairey Qewwiul (), SisHESY 2 atar wraul L kisar Carey Qewwiiul (), sHE &P 2 66
cudlaer CarhogHasu@Seatmer

A)  ups wrglifl (B) Qargg wrdlfl

C) veoHsE wr D) pewpwrer wrSl
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